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Instructions for Candidates :

The OMR Answer Sheet is inside this Test Booklet. When
you are directed to open the Tesf*Booklet, take out the
Answer Sheet and fill in the particulars on Side-1 and
Bide-2 carefully with blue/black ballpoint pen only.

The test is of 22 hours duration and consists of
150 questions. There is no negative marking.

Use Blue/Black Ballpoint Pen only for writing
particulars on this page/marking responses in the
Answer Sheet.

. The CODE for this Booklet is M. Make sure that the

CODE printed on Side-2 of the Answer Sheet is the same
as that on this Booklet. Also ensure that your Test
Booklet No. and Answer Sheet No. are the same. In case
of discrepancy, the candidate should immediately report
the matter to the Invigilator for replacement of both the
Test Booklet and the Answer Sheet.

This Test Booklet has Five Parts—I, 11, [II, IV and V,
consisting of 150 Objective Type Questions and each
carrying 1 mark :

Part-l :Child Development and Pedagogy ({Q. Nos. 1-30)
Part-1I :Mathematics and Science
Part-1Il : Social Studies/Social Science
Part-IV : Language-I (English/Hindi}
Part-V :Language-Il {English/Hindi)

(Q. Nos. 31-90}

(Q. Nos. 31-90)
{Q. Nos. 91-120)
(Q. Nos. 121-150)

{Candidates have to do Question Nos. 31 to 90 EITHER
from Part-Il (Mathematics and Science) OR from Part-1il
(Social Studies/Social Science).

Part-IV contains 30 questions for Language-1 and Part-V
contains 30 questions for Language-ll. In this Test
Booklet, only questions pertaining to English and Hindi
Language have been given. In case the language(s) you
have opted for as Language-1 and/or Language-II is a
language other than English or Hindi, please ask for a
Test Booklet that contains questions on that

Language. The languages being answered must tally
with the languages opted for in your Application Form.

Candidates are required to attempt questions in
Part-V (Language-II} in a language other than the one
chosen as Language-I (in Part-IV) from the Hst of

1anguages.

Rough work should be done only in the space provided in
the Test Booklet for the same.

The answers are to be recorded on the OMR Answer
Sheet only. Mark your responses carefully. No whitener
is allowed for changing answers.

giterfefat & fere fAdsr:

1.

0MR3m~uagaqﬁmgfﬁrm%;emr@f%lm‘mwm
g @ # @R wmg, @ Iw-va Pewew -1
YE-2 ' @F ¥ Faw et /e siedivz W A o oy
. gllgn R a2y, we2 ¥ wd vl i 150 v B B
FRH A T B

T ye R fagw sifEa $0 @ Ie-wr w fam e 3 R
@ IS/t averaiee 9 &1 W 31

4. T gfm w1 g M 31 78 gifam w0 B 30 gt @

5.

T, IT-IF % YE-2 W B Wt & Prevar B4 7w o gl
w & o e 15 3fR Fae-ua o fired €| e e
v &, @ vl gt wlen giRe ok Swear O & g
frilgs = gt s )

9 wher gfemm § uia w1, 1, o, v e v E, R
150 T8 3@ § a1 v&¥;w 1 im0y

W ane e 3 R (I do 1-30)
- i i R {37 do 31-90)
aM-N1 : WenfeE e famiees e (TE "o 31-90)
q-1v ;v (3 /R (¥ To 91-120)
qM-v o vmE-n (38 /) (%9 "o 121-150)

6. wltafifel = w3 Ho 31 9 90 AT A w1t (i i )

ar am-0 (| ereEs faries fee) @ w6 §)

7. WV H W1 & R 30 Y% SR vy & sm-nn ¥ fer

10.

30 9w g e § 1 30 wlen gt & e ol 7 R e @
e v ey # ) af? wmeg oftt/= sraT-n F e
T g g () sish @ Rt & et 2, | wown
| W wvet ade win difrg) R wadt &
I TR 3 2R 9 andet aw o e i wredt @
Hava 97 weh TR

. Thedi am-v (vw1-n) % far, s o 3 et s
<A {1 (m—w)ﬁg#}n;}imt}fﬁaz’n ¥

g:miwﬁmgfﬁmﬁmmé:%qané@mmmﬁ

Wl I FAE OMR IW-TF W A sifym w A 3w

Name of the Candidate (in Capitals) :

.

EarE R | I et 3 A G i BRg 2

ahieneft 51 A (I 1A )

Roll Number {in figures) :
S CELicH

Centre of Examination (in Capitals) :

qiEn % (I3 e §)

(3it &)

(in words) :

(wisst )

Candidate’s Signature :
wliemeff 3 geeR

Facsimile signature stamp of Centre Superintendent

Invigilator's Signature :

e & granan




PART—I / wrt—I
CHILD DEVELOPMENT AND PEDAGOGY | ae frere aiR e -wme

Directions : Answer the following questions
by selecting the most appropriate option.

1. Which of the following figures correctly

2.

represents the development according
to Piaget’s developmental theory?

8 \JﬂL ‘2’;:[___
Age Age

3) “‘ \ (4): /
Age Age

A teacher found that a student is facing
difficulty in drawing a square. He/She
assumes that this student would also
find it difficult to draw a diamond.
He/She applies which of the following
principles 1o arrive at his/her
assumption?

(1) Development tends to follow an
orderly sequence

(2) Development is saltatory
(3) Development is gradual

(4) Development is different for

different people

. Which one of the following statements

is true regarding the role of heredity
and environment in human
development?

(1) The role of environment is almost
fixed, whereas the impact of
heredity can be altered

(2) The theories based on the
‘behaviourism’ are largely based on
the role of ‘nature’ in human
development

(3) The relative effects of heredity and
environment vary in different areas
of development

(4) The policy of compensatory
discrimination of the Government
of India is based on the role of
‘hature’ in human development
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6. Which® of the

4... In the. context of socialization, schools

often have a hidden cumculum which
consists of

(1) forcible learning,
behaving in particular ways by
imitating peers and teachers

(2) the informal cues about social roles
presented in schools
interaction and materials

(3) negotlatmg and resisting sociali-
zation "of students through their
families . .

(4) teaching and assessment of values
x and -attitudes

S. Which of the following implications
cannot be derived from Piaget’s theory
of cognitive development?

(1) Sensitivity to. chlldrens readiness
to learn

(2) Acceptance of individual differences
(3) Discovery learmng

(4) Need of verbal teachmg

H

following is a
characteristic of Kohlberg’s stages of
moral development?

(1) Variable sequence of stages

(2) Stages are isolated responses and
not general pattern

(3) Universal sequences of
across all cultures

stages

(4) Stages proceed in a non-hierarchic
manner

7. Teachers and students draw on one

another’s expertise while working on |

complex _‘prOJECtS related to real world
problems in —— classroom.

(1) traditional
(2) constructivist
(3) teacher-centric

(4) social-constructivist
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8.

In the context of progr_ezésive education,
the term ‘equal educational

_opportunity’ implies that all students

L@

10.

11.

should

T

(1) receive equal education irrespective
of their caste, creed, colour, region
and religion

(2): be allowed to prove their capability

after receiving an equal education

be provided an education by using
the same methods and materials
without any distinction.

(4} be provided an education which is
most appropriate to them and their
future life at work

_in the context of language develop-

ment, which of the following areas was
underestimated by Piaget?

(1) Heredity

(2) Social interaction

(3) Egocentric speech

4) Active construction by the child

An eleven-year-old child’s score on
Stanford-Binet Intelligence Scale is
130. By assuming p =100 and 6 =15in
a normal probability curve, calculate
the percentage of 11-year-old children
this child has scored better than.

(1) 98%
(2) 88%
(3) 78%
4) 80%
Which of the following observations

supports Howard Gardner’s theory of
multiple intelligences?

. (1) Damage to one¢ part of the brain

)

affects only a particular ability
sparing others

Intelligence is an interaction of
analytical, creative and practical
intelligences

(3)

chical in nature

Teachers should follow one specific
theory of educational innovation at
the time of designing instruction

(4)

2-M

Different intelligences are hierar- |
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12,

13.

14.

1S.

Which one of the following statements
is true about ability and - ability
grouping? o

(1) Students learn better in homo- ‘

geneous groups

(2) For smooth and effective teaching,
. class should be. homogeneous

(3) Children are intolerant and do not
7 accept d1fferences

(4) Teachers " may use’™* multilevel

teaching to cater to different ability

groups
Which one of the foﬁowing statements
is true?

(1). The formative: assessment can

sometimes be, summative assess- |

ment and vice versa
(2) The summative assessment implies

that assessment is a continuous ‘

and integral part of learning

(3) The major objective of the formative
assessment’ is to grade the
achievement of students

{(4) The formative assessment summa-

rizes the development of learners

during a time interval

A teacher asks his/her students to

draw a-concept map to reflect their

comprehension of a topic. He/She is

(1) jogging the memory of the students |

(2) conducting formative assessment

(3) testing the ability of the students to
summarize the main points

(4) trying to develop rubrics to
evaluate the achlevement of the
students 5 .

Whlch one of the following fepresents

the domain ‘evaluating’ in the Bloom’s

revised taxonomy?

(1) Creating a graph or chart using the
data .

(2) Judging the logical consistency of a
solution

(3) Evaluating the pertmence of the
data provided

(4) Formulating a new way
categorizing objects

for
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16. Teachers must believe in which of the

(2)

17.

i8.

19.

following values in the context of
dealing with disadvantaged learners?

(1) Personal accountab1hty
students’ success

for

High expectations of appropriate
. behaviour

3)

No demands of any sort on the
student

(4) For immediate of

compliance

students, use of being shocked and |

angry

Stuttering problems in students can be |

dealt by applying Wthh of the following
methods? s

(1) Dictated speech

(2) Prolonged speech -
(3) Pragmatic-speech *
{4) Protracted speééh

In the context of. learning-disabled
children, providing immediate connec-
tions, stressing- collaboration: and
leveragmg non- learmng technolog1es

such as instant messaging, mtelhgent ]

search and content management are
associated with which of the following
designs?

(1) Embedded learning

(2) Interventionist learning

{3) -Reply to remediation

(4) Universal design for learning

An inclusive classroom is'that where

(1) assessments are repeated till the
time every learner -achieves
minimum grades ks

(2) teachers teach” " from only |

prescribed books to lessen the
burden of the students

there is an active involvement of
children in solving. as many
problems as possible

(3)

(4) teachers create diverse and
meaningful:- learning experiences

for every learner '
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17.
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20.

Which one of the following is an |

. appropriate assignment for a gifted

2-M

. Problem solving

student?

(1) Many more exercises of the same
type in comparison to other
students

Asking him/her to tutor the peers
to channelize the energy-and keep
him/her busy

Create a prototype of a new Science
book based on different themes
Letting him/her finish the textbook

on his/her own before the entire
class

(2)

(3)

(4)

. Many measures have been taken at

institutional level to check the dropout
cases in the schools run by government

agencies. Which of the -following is |

an institutional reason for children

dropping out of these schools?

(1) There is a lack of infrastructure,
such as blackboards and toilets

(2) Teachers are . not having
appropriate qualifications and are
paid lesser salaries

(3} Teachers have not been sensitized
about the need of treating children

well
{4) There is no alternative curriculum
for children who reject the

compulsory curriculum offered

. Learning disabilities are

(1)

(2)
(3)

objective facts and culture has no
role in determining them

synonymous with dyslexia
also present in children with
average or above average IQ

not immutable irrespective of time
and nature of interventions

(4)

is more likely to
succeed in schools where

(1) a flexible curriculum is in place

(2) homogeneous groups of students
are present in the classes

(3) the emphasis is only on higher
order academic achievement

(4) teacher-centric pedagogy is in
effect
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25.

26.
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Cognitive apprenticeships and
instructional conversations

(1) conceive learning as a social
activity ’
(2) are based on application of

inductive reasoning

{3) emphasize on systematic organiza-
tion of textual material

(4) highlight the " need of practical
training to achieve efficiency

Which of the following should be a right
way for a .teacher who intends to
correct errors of his/her students?

(1) He/She must correct every error of
his/her students even if it requires
late sitting in the school

(2) He/She should correct  less-
frequent errors more often than
high-frequent and generality errors

(3) He/She should correct errors that
interfere with the general meaning
and understandability

(4) He/She should not correct errors if
it irritates childrsn

The following skills .are involved in

emotional intelligence, except

(1) awareness of emotions

{2) management of emotions

(3) criticism of emotions

(4) amicable relation with class fellows
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27. While appearing in an assessment,

28,

30.

Devika finds her arousal as energizing,
whereas Rajesh finds his arousal
as discouraging. Their emotional
experiences are most likely to differ
with respect to

(1) the duration of time -
(2) the extremity of emotion
(3) the level of adaptation

(4) the intensity of thought

The Government of India has started

Midday Meal Scheme for the
elementary schools. Which of the
following theories of motivation

supports this Scheme?
(1) Behaviourist =

{(2) Socio-cultural

(3) Cognitive

(4) Humanistic

. Attaching importance to the home

setting of students for understanding
children’s behaviour and wusing this
information for building effective
pedagogy is related to which of the
following theories of learning?

(1} Behaviourist
(2) Ecological
(3) Constructivist

(4) Social-constructivist

Which of the following may be the best
way to deal with an inattentive child in
the classroom?

(1) Nag the child as frequently in front
of the class to make her/him
realize ’

(2) Make the child sit in the most
distraction-reduc_ed area

(3) Allow the child to stand while
working so as to enable the child to
focus attention

(4) Provide the child frequent breaks to
refresh her/his attention

27.

28.

29,

30.

ST FfRAT-% S I ) s gt
Bt } safh oW i e e 39 R
& WIEIEHF APt 1 I e Ty 27

(1) ®R=Ta

(2) TR i TR
(3) TET R

(4) foramt o1 v

TRa wER 3 oyl faed & R
YRR~ A WS IRy @t 2y Poafefad § &
HH-a AR Rigr 1@ A ¥ gad
wHar 27

(1) sHergREd

(2) HS-HiEHRH
(3) wIFTEE

(4) wmdg

S &% Jagn F wug & foe frnfia ¥ w
& drTeR HOAEEQ M 3 @l 38d uiH
g &) el fign-wme & ffor @ e
W gl 2 98 asa ARtrm % frw R
g Bt

(1) =ggRErEl (Behaviourist)
(2) wifRR® (Ecological)
(3) wER (Constructivist)
(4) wmiSr-aATard

(Social-constructivist)

FE T O A 31 I 99 § FEER F@ F
HA-T U Faifts aner © ge 27

(1) o= =) 7egy WA ¥ Y X wan § gun
I AR-AR SieAT-39e

(2) 98 W W TR A @ TR

(3) wm HfHa w1 F fog, & @ gu =
 ES T hi sgafy 3

(4) 79 F @R W TEiigw =3 F R
da-dfia § 3@ srawm I

[ P.T.O.



‘Candidates have to do Question Nos. 31 to

90 ‘Either from Part—II (Mathematics and
Science) Or from Part—III (Social Studies/
Social Science}. ;

TR 1 ¥ 31/ 90 A1 A w11 (R 3k

fomgm)

foam) @ =@ &

N AM—I (AR FeER [ R

PART—II / Sm—-II
MATHEMATICS AND SCIENCE / wfom aik fmm

Directions : Answer the following questions
ny selecting the most appropriate option.

31.

32.

33.

a4.

The value of 0-001+1-01+0-11 is
(1) 1-111 ) 1-101
(3) 1-013 4) 1-121

In 1999, the population of a country
was 30 3 million. The number which is
the same as 303 million is

(1) 303000000

(2} 30300000

(3) 3030000

{4) 3030000000

I a®>=1+7, 3%=1+7+b and
43 =1+7+c, where g, b and c¢ are
different positive integers, then the
value of a+b+c is

(1) 58
(3) 77

(2) 68
@) 79

We call a number perfect if it is the
sum of all its positive divisors, except
itself. For example, 28 is a perfect
number because 28 =1+2+4 +7 +14.
Which of the following numbers is a
perfect number? g

(1) 13 (2) 10

3) 9 4 6

- Which of the following numbers is a

perfect square?
(1) 548543213
(2) 548543215
(3) 548543251

(4) 548543241

Adsr

: Prafafem vt & s R §F R w=w@

s Rrwea gf

31.

32,

33.

34.

35.

0-001+1.01+0-11 % AR R
(1) 1-111 . (2) 1-101
(3) 1-013 4) ‘1-121

1999 # foedt 3w A wwgem 303 fufew
i ®-8 wem 303 faftrm % w27
{1) 303000000

{2) 30300000

{3) 3030000

(4) 3030000000

R a®=1+7, 3%=1+7+b 3R
4% =14+7+¢, 5@ a b AR c AfE s
Al &, 9 a+b+c H HA

(1} 58 7 (2) 68

(3} 77 . @ 79.

o frdt sem w anpl e e § R ow
T yEE W o e % (den |
BIGH AN F W @ IJTEE 28 TE
T UM R W 28 =1+2+4+ 7414 2
B & @ F-wt den arpt g 27

(1) 13 20 1o

3) 9 @) 6

e T & FR-ft den o g @t gen 37
(1) 548543213

(2) 548543215

(3) 548543251

(4) 548543241

2-M
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36.

37.

38.

39.

The product of two whole numbers is
24. The smallest possible sum of these
numbers is-

(1) 8 2 9
(3) 10 4 12
The value of

3502 _3500 16

3500 .9

is
(1) 2 (2) 4
(3) 8 4) 16
If

800880—8><10"+8x10~"«1-8x10z

where x, y and z are Whole numbers,
then the value of x+y+2 is

(1) 11 (2) 8

3) 6 4 S

One factor of x* +x2 +1 is
(1) x2+1 2 x%+x-1
(3) x%-x+1 4) x%2-x-1

440,

11,

The scale of a map is given as 1: 10000.
On the map, a forest occupies a rectan-
gular region measuring 10 cm x 100 cm.
The actual area of the forest, in kmz, i

(1) 1000 (2) 100
{3) 10 4 1
A fraction is equivalent to 3. Its

denominator and numerator add up to
91. What is the difference between

the denominator and numerator of this |

fraction?
(1) 3 (2) 13

(3) 19 (4) 21

36.

37.

38.

39.

40.

41.

A pof et w5 qured 24 §1 37 et W
ST g 490 3
(1) 8 2) 9
(3) 10 4) 12
3502 3500 ;e S
3%00 12
(1) 2 @2 4
(3) 8 @) 16
afy

800880 =8x%x10* +8x10Y +8x107

‘aalx,yaﬂtzlp‘iawqa T x+y+2zH
Eichd

(1) 11 2) 8
3) 6 @4 5
x4+x2+1a;rtzaauvr-1@v3%_’l

(1) x2 +1 2 x®+x-1
3) x? -x+1 4) x%-x-1

T AEfEE 1 e (scale) 1:10000 R &
MARE W ST A 10 ecm x100 cm #
Y ¥ U AR &% ¥ w9 fewrar m
T ST 1 ATt et km? 1§, 3

(1) 1000 2) 100

3) 10 @ 1

& fig S %gw%lsuésaaﬂzm 1 A
91 %lm&aéﬁasﬂtmﬁw I P
(1) 3 (2)_}.3&

(3) 19 (4) 21 =

SPACE FOR ROUGH WORK ; T® %™ % fre g

2-M
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42. The number n is doubled and then yis | 42. ¥ n F FHE =H I y F N @R
added to it. The result is then divided ™ qiom Y 2 | 9 w1 R 3 § arafs
by 2 and the original number n is WA n ! 92 T &1 tf<iw afon R
subtracted from it. The final result is y
y (1) y 2 =
(1) y 2 = 2
?1+ ‘ 3 n+ 4) Rty
8) n+y @ Y B n+y
43. A polyhedron has 6 faces and 8 43. ﬁ?&ﬁ TEHIH F TR F A 6§ qon o
vertices. How many edges does it have? & vem 8 1 3| fhae foem §7
(1) 10 2) 12 (1) 10 (2} 12
(3) 14 4 15 (3) 14 4 15
44, If 44, IR
1957 1957
-a9 —a9
18b8 1858
the sum of the digits a and b is a9 3 3_ﬂ( b a2
(1) 15 2y 14 ' )
(3) 13 4 12 (1) 15 (@ 14
(3) 13 “4) 12
45. Forty-two cubes each of side 1 cm are
glued together to form a solid cuboid. If 45, s Tt =i, (e @ s € ¥ 1 cm B,
the perimeter of the base of the cuboid T Wy f%'qa;m T 3 TN SHET S )
is 18 cm, then its height, in cm, is R T8 T F TUR FT IREW 18 cm A, @
(1) 1 (2) 2 el JE, cm #, ?
(3) 3 (4) 4 D 1 @ 2
46. In APQR, PQ=4cm, PR=6cm and (3) 3 4) 4
OR =3 cm. Which of the followmg is
correct? 46. APQR %, PQ=4cm, PR=6cm 3R
(1) £ZR>Z£Q (2) -2Q'> 4R QOR=3cm 3l = & 4 #F9-w1 9w 7
(3) £Q0=«R (4) ZR< 4P (1) £R>Z£Q (2) £Q> ZR
47. In AABC and ALMN, AB = LM, AC=LN 8) £0=£«R (4) £ZR < «P
and £B = ZM. Then the 47. AABC 3 ALMN #, AB=LM, AC=LN
(1) triangles cannot be congruent M sB=sZM R @ .
(2) triangles must be congruent _ (1) ﬁgg, wahmm 78 & e 3
(3) triangles will be congruent if- /B is 9 ﬁrgéi oty @ gatran §
a right angle ! (2)
(4) triangles are congruent only if (3) ﬁ‘ﬁ'maﬁ afe £B o @ @
AB=AC (4) Bt wafman & ¥aa aR AB = AC R
SPACE FOR ROUGH WORK / T &4 % Rt wg
2-M 12



48. The area of a trapezium-shaped field is

49,

S0,

S1.

720 m?, the distance between the two
parallel sides is 20 m and the length of
one of the parallel sides is 35 m. The
length of the other parallel side is

(1) 35m (2), 36 m
3) 37m (4) 40m
If the cost price of 10 candles is equal

to the selling price 6f 8 candiés, the
gain/loss percent is

(1) 25% gain
(2) 20% loss
(3) 20% gain
(4) 25% loss

- e A
The mean of median and mode of the

data 7, 6, 7, 9, 8, 8, 10, 8 is
(1) 5-5 2) 8
(3) 8-5 @) 9

A teacher conducted a debate in the
class on the following topic : L

‘Zero is the most significant
number.”

She encouraged every child to express
his/her view on the topic. The teacher
is ‘

(1) making her classroom = more
communicative and ;'eﬂe}gtive

(2) passing her time as students are
not in mood of studying

(3) using her Mathematigs_ class as
life-skill class to develop value of

argument among the children
(4) inducing problem-solving  skill
among the children, .-

[
48, quErE & T % U T F &6 720 m 2

%,ﬂmgmaﬁ%a‘maﬁgﬁ 20 m 2 3R
I 9 T QIR W o 35 m 21 gl
YHIR S 6t TS §

(1) 35m T2 36m
(3) 37m (4) 40m

o

49, aR 10 At 7 Fa-qea & dafed ¥
forsra e & st ;@ e/anf i 2

(1) 25% &9 - & . ‘.
(@ 20%@f

(3). 20% @y -

(4) 25% &f S

50. afwgt 7, 6,7, 9, 8, 8, 10, 8 & AT

MagemF Ay
(1) 5.5 k)i')li‘-' !(2) & I' .
3) 85 -4 9

51. &% ﬁTﬁm:':‘r’aaj&;; ¥ ﬁdﬁq m féﬁé W

arR-faa: = smem R
Ty ot e a2
: s¢ . .
IR YAF T A 370 FvT | I39Y Fer e
w3 & e Newfea fran Rifer |
(1) oo w1 B ol afiermeia ofv
Frarcefte s @ &

(2) ST T el o W} FiE oEl @
 :feufa ugn Y A

A3) wEt § aftE i et w3 B B

It it i war w SHaa-Hma € wan

I 999 W E R

(@) S s A A e A

SPACE FOR ROUGH WORK / T %M % fig wme ™
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52.

Under the topic, “Use of eXpon'qnté to

express small numbers in standard

form”, the following facts are ‘stated :

(A) The speed - of light is
300000000 m/sec. ,

(B) The height of the Mount Everest is
8848 m.

(C) The diameter of a wire on a
computer chip is 0 000003 m.

(D) The size of a  plant cell is
0-00001275 m.

The above examples are used to

express each stated aumber in

standard form. Use of such examples

(1) shows the accuracy aspect of
numbers

(2) reflects
approach

the »inter-"disciplinary

‘(3) is made ‘in class to grab the

53.

attention of ¥ "students
interested in science -

(4) helps the teacher to identify the
bright students

more

Accordmg to Jean Plagets theory

- 1ntroduct10n of hnear equation and
learning techniques of solving it are
assimilation, and: ‘extending the

_ concept to pair of linear equations

2.

53.

forrg, “stma @ swEm S wEed @
mwmﬁazaaasﬁﬁml” %mﬁaﬁ%
ﬁ"ﬂqwﬁm@@%&nw%

(A) ST sl =Te 300000000 m/sec 21
(B) mR= tRw H F§ 8848 m 3

(C) ¥ faw w @ an
0-000003 m 2|

%] Y
(D) e wRE & WS 0. 0()()0127>m

R

SRR H I Yo% fgfua Ten
S &9 N T w3 T e 21 U et
& I

(1) wemstt & Ry weel # qufar
(2) st 3wrm H vfafafRe @ @

(3) e § 3 o, § Rgw § afwr%rﬁé
&, F1 A 39 IR Y g R

(4) Toew T0 Fa F dw gz o sE
UEEE A A TRl Sl #

ot R % g % swEm

(1) mmmwﬁmamsﬁsamﬁ
Fftrm awdie TeHEIeRY ¥ e Waw

<" may raise problem of accommo- e I R ST S,
dation . N
(2) introduction of pa1r of linear # Tl 1w &
equations: and techmques of ) "{ﬁg’a{; gHfietor- gwq 1 iy au gﬁ T
solving it% are¥- -assimilation, and ‘=3 & anhE . STTEATEHT 2 Qa -5-;4 Yias
connectmg Jit to basics of linear Hﬂﬁm 3 Pﬁ?ﬁ
equation 1s accomrnodatlon ' b T{(;ﬁ é A HH T ¢
(3) exposure = to linear equation, (3) W @i W Ty, 3@( &
techniques of solving it and.pair of # f TRNE an Was griem- -
linear equations are assn'mlatmn STCHYTRTT 8
(4) learning the concept of linear
equation, .pair of linear equations | (4) Wew whww, Was whewm- W q
and quadratic equations is problem fiemeh el H SEYwn @ i
of accommodation YHENE-nEr g
SPACE FOR ROUGH WORK / TF %™ % Ry g
2-M
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54. ‘Maths lab-activities’ can be used for

§5.

56.

(1) formative assesSme;lt only
(2) summative assessment only

(3) both formative as well as
summative assessment

(4) selecting students
Mathematics Olympiad

As per the NCF, 2005

(1) narrow aim of teaching
- Mathematics at school is to teach
number system and higher aim is

to teach algebra '

(2) narrow aim of teaching
Mathematics ‘at school is to teach
calculation and higher aim is to
teach measurements

(3) narrow . aim of teaching
Mathematics at school is to develop
numeracy-related skill and higher
aim is to develop problem-solving
skill

(4} narrow aim of teaching
Mathematics at school is to teach
arithmetic and higher aim is to
teach algebra : :

According to Bloom’s revised
taxonomy, the cognitive objective that
can be achieved through the following
task 4

“Prepare a PowerPoint presentation on
contribution of Indian mathematicians.”

is.

(1) remembering
(2) understanding
(3) analyzing

{4) creating

for National

54.

5S.

56.

‘e seTITen fRaTReal’ w1 IuE fRr S
T B

(1) et TS S & e

(2) Fae Gepfera gedieA & forg

(3) wmaﬁtmaﬁ:@mﬁa;%q
) gﬂﬁmaﬂﬁﬁm%@m%ma

U urgFEt i FR@1, 2005 F ATEN
(1) Trelt # e fimor & dfd W

YGFI ]

() uﬁﬁﬁnﬁmﬁrm'mmﬁ@mqﬁm
R it I=at 9w w9w e 2

(3) = & R fregw =1 dhiel Rew de-
g o fIwfia W= o s=d Ry
RN &6 R A P [l e R

4) @t & e foawm W g w®w
FEiE qgrMT 3R I= k@ Hsmifua
gl ?

= ) G i % sar A3 Ry g wE
et RSt % ARE W qeRuiER

mﬁamﬁwaﬁtﬁa’@ﬁm%,
ECh

(1) I= FHE
(@) wwg
(3) fordwm e

(4) G T

SPACE FOR ROUGH WORK / & &1 % Rt W
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7.

Read the approaches used by“"the two
teachers to teach solving of. linear
equation, say 2x-6=10:

o

Teacher A Teacher B

(&) Take 6 on other| (j Equétion

side maintains equality.
(b} Change the So same operation
sign of 6 and with same number
add to 10 can be performed
~on both sides to
(c) Get 2x =16 faintdin equality
(d} Tf.hke 2' C({)n thg (i) Hence
Zivge sice an 2x-6+6=10+6
or 2x=16
(e) Get x=8 2% 16
(iii) 7 = >
or x=8

Steps Steps

always

57. &t fiet 3w Redlt Was wfew, <@
T

2x-6=10, ® T = § IFEM fru
I Sl afen

firer A  freE B

() 6 ® W g ¥ || (i) T & guHa w9
SEY

(b) 6 % fae wiafda s

Clu) El)

ot @l B1 o @A
gyt # wuE geei
* WY HE S=TEd

10 # Afg R
(©) Rt W A R R o wed B
2x =16 .
(if) <a:
(@ 2R GRUGAATT 9y -646=10+6
Bl AT | gwar ox =16
(e) x =8 wm Hfm L 2x _16
: _W&T x=8

It can be observed that

(1) teacher A emphasizes on
instrumental understanding while
teacher B emphasizes on relational
understanding

(2) teacher A emphasizes on relational |
understanding while .teacher B |

emphasizes on

instrumental
understanding

(3) teacher A focuses on éonceptual

knowledge while teacher B focuses
on procedural knowledge

(4) teachers A and B focus on
instrumental understanding

M S masm d f

(1) fugw A @fiw aug. | s« @ 2 Sl
g B ol gng W

(2) Bres A g og W 9 oW § aRe
fies B oa Wy W

(3) fages A TORENE TH W HEd B §
waly s B sl 39 w

4 g;xgmwﬁ%r% B %1 wug w ¥fa

2-M

SPACE FOR ROUGH WORK / & &1 % fyq sg
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58. Class”™ VI+ students were -given -the
following layout of ‘a housé : ~ {»
T shp o

Bl P

je— 10 ft —Dl¢—— 121t 316 ft->)

8 ;
T Dmmg P :
1% ft ' . room x c
h
e
Connectmg lobby . .n

Guest: = N T Livin,

11 ft room. Bedroom oF ek i"darng

r% T ‘: + F'S .
le— 10 ft -—9{ s k-

.
T v .

The students ‘wére asked te find out
the—

R TR,
‘i
(A) perimeter and area of ‘each room;

(B) total perimeter and total area of the

house. wEp § -

s (‘!

| 58. Fafl.. V1. %q‘.ﬁmﬁfﬂ"fuﬁ f??rﬂﬁ Kﬁh‘F{ P

frafafeg = fanmn -
% ¥ EERADT] O UL 2 5
fe— 10 ft —d— 12 --——>%<-‘d"' 6 ft->)
5&>3“;I:;{-" ,,! - q
Iy R NE.
: SR RO
war el
PRELTITY BT SUIUTEP N W
EQTT 'J-'m;%gﬁf 2 ufil bafgf, '
( vyl Rerbevide s

B EFECN MY LAl

St 2it. o
N s G e iy
9.0 ﬁmﬁﬁ@mw%%mﬁ—
ad. - 2 4 swooio o odagns

(A) Wmﬁaﬁﬁfbn;aﬁtméwm

(B) F gt TR S S Fe Ao

. - C Gy A
The above activity can be used by =
teacher as formative assessment task EECE @mm E'\ ﬁﬂ% Iﬁ?ﬁﬂa T %
because . o
o m%mﬁém%,mﬁfﬁ
(1) it will be easy for teacher to engage '
glelriglée students for 40 minutes (1) 38 #F % g0 ﬁT&iﬂ |
.y —_— ﬁaﬁ?ﬁaﬁ%ﬁmwm@m%
{2) the students’. responses. will help g Ty o b ’
teacher to diagnose their £ fifﬁ A
‘understanding: regardmg finding e 2) fm 31'1 3; SIS (\h_ mg sk
dimensions, calctilations, knowl- T QItEBEFii ‘f’ﬁ A ¥ F=fEg
edge of formulae for perimeter and g H ﬁ?ﬁ w0} R A H'S'FWT Lol
area, etc. ' s S £
(3) the students w111 ﬁnd the task (3) Frerfiat T E ﬂ% Q’m’“ a9
interesting and will not disturb Teh- {‘Sﬁ # f=r s = ﬁﬁ
each other . - ULV I (PR (
~3‘_(4)’$ i Felfove the phobla of Maths (4) T® Eﬁ ’Tﬁm $ qﬂ&m 33 gﬁé’ w1 R Y
* examination® ¥ 17 Gaull
SPACE 'FOR ROUGH WORK / i3 Eﬁf aa %ﬂ{ TR
2-M 17 [ PiT.O;



59.

60.

Students’ ability, to apply the concept of
square roots in-real life situation can |
be assessed through the following
problem

>

(1) Find the smallest square number
that is divisible -by, each "of the
numbers 4, 9 and10.

|

(2) Calculate the square,root of 25600.

(3) Find the smallest number that may
be subtracted from 5607 to get a
perfect square. ’

2025 plants are to be planted in a
garden in such a way that each row
contains as: many. plants-.as the
number of rows. Find the number
of rows and number of plants in
« each row. L T

(4)

N

A student ‘writes
10cm _

12cm 6

15 km’
15m

5
cm

{ o
=1000m

This student

(1) always commits clerical error of
writing unit with ratio

has clear éonc;cpi: of units and their
convérsion = = °

L L

@)

can reduce fractions to lowest term
correctly and can write the units
properly o

L S

(3)

has concept of units, conversion of
units, fractions but missed the
concept that ratio does not have
units Lo

(4)

59, mmﬁgm

e B ffy § et B sEeE
@mml.ﬁﬁaﬁ?ﬁ#‘&mﬁmm%
wifte Pt foran < T @

e @y B, A

(1) 3§ ~ggaw 9. 6 <
9m-10'm@ﬁmﬁaé:

gesl 4,
(2) 25600 3 aieer 1 o ifdw)

(3) FW H ETH A A ;@ 5607
@qaﬁqttﬁﬁaﬁdmwm‘eﬁ?ﬁ%l

n025 det # T i § 54 @ | A
e 2 v dfe A Ia @ wen d
fY B Rl den o Ryl A
fET aur Y ufew § det g @

(4)

HifRm)
' itk 1 1o
RPUEEETE EY T S
60. #1 ur forgar
10cm 5
== cm
- 12¢m 6 ¢
1Skm _ ;600 m
15m
Akt PR
wsA L

(l)mgqmésmnrﬁ%@ﬁaﬁa%a
g -wrrdt R F 2
. W

(2) A 3 I SRS F T TH T
_;% - . ' -

- L
v Rkl

(3) 1ﬁaiaﬁaaauqaﬁa§iénﬂaaam%
ma—am%@m_%

(4) TR HT TH TEA § T AEH ST
3‘?{( ﬁﬁ &l Eis,‘ia\,' ”.’}?’ .:Tf’("ﬁ]f[ %m qg
o[ STl & i ST, I WO @

2-M

SPACE.FOR ROUGH WORK |/ T &® ¥ foig amg

18




61. Study the following statements about
excretory system in humans :

(A) Wastes dissolved in water are
filtered out as urine in-the kidneys.

(B) Urine stored in urinary bladder is
passed out through the urinary
opening at the end of the urethra.

(C) Ureter carries urine to the urinary
bladder. '

(D) Useful substances -are  absorbed
back in the blood.

(E) Blood containing useful and
harmful substances reaches the
kidney for filtration. -

The correct order of the processes given

in the above statements is

(1) (D), (E), (&), (C), (B)

2) (E), (D), (&), (C), (B)

(3) (B), (D), (E), (&), (C)

4) (E), (D), (A), B), (C)

62. The pseudopodia of amoeba are used

for
(1)
(2)
(3)
(4)

Below are given some organisms :
(A) Yeasts -
(B) Bedbugs

- {C). Leeches

(D) Cuscuta

(E) Algae =

(F) Lice.

(G) Mushrooms

(H) Lichens

The organisms which may be:classified
in the group of parasites are

(1) (A), (C), (F) and (G)

) (B), (C), (D) and {H)

(3) (B), (C), (D) and (F)

(4) (©), (D), (E) and (G)

sensing the food only

capture of food only
movement only .
movement and capture of food

63.

61.

() ggm%ﬁﬁ q g
y .

e et & @ SRl w2
62.

63.

S IS 9 ¥ v § S R e s

431%@%?,:' '

(A) st g gu e e gEi d 97 % w
3 g X ferg <Mt R

(B) g™ # ®ie[ T, v gga R
oy @ g9 da ¥, ¥ e e e
fear sman 21 P

g T EEE # S

(D) Swit warel T A G SEmi
forn St 21 ‘

ST i T OFl @ WHER % Ter

3 7w Frered & fag 3@ § agem@ 2l

(E)

(1) (D), E), &), ©), B)

2) (E), (D), (A), (C), (B)

3) (B, (D), (B), (A), (C)

(4) (E), (D), (A), B), (C)
e & e e aEEa R 2
(1) e s T ST O
(2) e aﬁmm L}

(3) e T A

(4) T 3 @ i e A

49 3o fa REm e

@A) fie C

(B) @A

(€) Sit®w

(D) IHEH

(E) qard

(F) s .

(G) BT (HIEH) -~

(H) SE - .
it & et i P o At <
(1) (&), (©), (F) M (G)

) (), (C), (D) 3 (H)

3) (B), (C), (D) i (F)

4 (©), (D), (E) #R (G)

SPACE FOR ROUGH WORK / 1% Fd ¥ fog R
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64. In Column—A,. names::of scientists
are given and in Column—B, some
discoveries.are-given :

COVETIES alt 2

3 Column—;B

Column—A -
(e) Alexander. ~ ¥ (i) Anthrax
Fleming - bacterium

(¢} Edward Jenner (u) Fermentauon

(c3 Louis Pasteur (111) Lactobacﬂlus
bacterium
(d) Robert Koch (iv) Penicillin

(v} Smallpox vaccine

The correct match of the names of
scientists with their discoveries’is

(1) a b c a -~ -
v v i
(2) a c d
i iii ii iv
@a b c d
v i v il
4) a b c d -
i v ii i -

€5. Select the correct s'tétéx_ﬁeht _about
biosphere reserves.

(1) These are the protected areas
meant for the conservatxon of
endemic species only

(2) These are the areas meant only
for the conservation of plants and
animals v

(3) These are the areas which help
to maintain the . biodiversity and
culture of the areas

(4) These are the protected 'areas
reserved ‘for wildlife where they can
freely use the habitats and natural
resources

64. mﬁ-—Aﬁéaﬁﬁés m%wnq%mﬂt

——Bﬁ@@?ﬂ?ﬁ"ﬁ%
7o '
WW—:—A-H £Lo2e t 1 BICTH- ——B
@) AR R () T Sy
(b) @aé@ﬁ( - (i) Revm
(@ T (i) deerfiem s
(d) T Hr i) AR
(v) é?ﬁ"mz‘m
émﬁaﬁ%mmmﬁ@aﬁﬁiﬂnm 2
Wa b e do
v oovood L.
£, 73
2y a by cooyzd o0
i iii 11 ,ZiV .fT‘

4 a b=eetd
iii v i o
. : 920 TN +

‘L‘

65. JvST IHE (mr?aa 833) é efRE wd
w47 gAY -

() aégﬁmm%ﬁéﬁaﬁm%«ﬁm
ésmm%mmﬂq% X

2) 3 %m%mmmﬁwqﬁ%mm
%mmm%r RN O I |8

1

RS
(3)a%$aﬁsﬁ&éaﬁéaﬁ%wafn
mﬁaﬁvmwﬁﬁamﬁﬁ%

aégcfm%aﬁcﬁ%m@navf%gaa
s 3t wifeh et % JuanT & fo
s foman T R
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$6. Study the following 'stdatements :

(D) Eukaryotes

(A} Prokaryotes do not havé nicleus.

(B) A single cell can perform all the
functions in a unicellular
organism. -

(C) Blue-green algde are the examples
of prokaryotes

do not have well-
- organized *nucleus” with 2 nuclear
membrane.

The correct statements.are N
(1) (A), (B) and (C)

(2) (A),.(B) and (D) _

(3) (A), (C) and (D)

(4) (B), (C) and (D) ]

66, 9 i T w1 st e

(A) Sikfe # ez T aa 2

(B) wH-wifin g d§ what wifiem wft w5 d
el 21 :

(€ FR-g fare nFfar F e g

(D) {%ﬂﬁzﬁmﬁ@aﬁﬁwf&am
T Aag , L

#d Q Hiﬂ o %

(1) (4), (B) 31"? {C)

(2) (A), (B) R (D)

(3) (A), (C) i (D)

(@) (B, (C) 3 (D)

Y

67. In the given dlagram, positions of four | s
endocrme glands in the human body | g7. fu M o # s ¥ wfit ¥ |R s
are ‘marked by the letters’ A ‘B, C§| . Wﬁf@lﬁA B, C,WD»{TUH%H@
and D: -y )
The correct labelling of:A,-B; Cand D is ) N
(1) A—pituitary gland, * - B—thyroid A, B, C 3 D1 &t ot
gland, C—adrenal gland, (1) A___'lﬁ'q\q ¥, © B_gnqugg afesr,
2) Tp?cris land, " * B-pituit C—fepm %,
—adren gland, pituitary _ ‘
gland, C—pancreas, D—thyroid (2) A--Xfg v’f‘ﬁ,_*}B—‘ﬁ‘@ uf,
gland < e C--30-gT9, D—Imalss uf¥
(3) A—adrenal gland, B—thyroid (3) A-fem  ufw, B-'—Wlsts’ -y,
gland, C——pancreas D——-I?i‘.tuitary C——3eared, DR ey
gland o ¥ LA . )
(4) A—pituitary gland, B—pancreas, 4 A_"TW 7, B3I, C—-auss
C—thyroid gland, Di<adrenal'gland ofR), DfFm a2y
SPACE {FOR 'ROUGH WORK / Th &/ ¥ farq _sme.
2-M [ P.T.0.



68.

69,

A rectangular container given below is
filled with a liquid heavier than water :

Sele¢t the correct statement from the
following about the liquid pressure.

(1) Pressure at A = Pressure at B
= Pressure at C '

(2) Pressure at A > Pressure at B
> Pressure at C -

(3) Pressure at C > Pressure at B
= Pressure at A _

(4) Pressure at C > Pressure at B
> Pressure at A

Light is falling ‘on the surfaces S, S,
and S3; as shown below :

AN

Sy Sz S3

The surfaces on which the angle of
incidence is equal to the angle of
reﬂectxon are

(1) S, and S,
(2) S2 and Ss
(3) S, and S,

(4) All the three surfaces

68. R fou u frd smgarer v A 5@ ¥ 9 FS

69.

T

s % Ry & B £ 2 od v g
(1) AREE = BWEME = C | 3H
(2) AWTE > BREE > CW W
(3) Cma‘la>B;itm==qum

+ ‘

(4) CHIE > BWIE > A W o

aﬁ@ﬂaﬁq&m{sl,sz S5 78 W

WRRL

@gftsmmmw’hm‘%w%,
w- §7

(1) s, 3k s,
2 s, aﬁz'ss
3) .sl' R S,

@) wh i

SPACE FOR ROUGH WORK / {6 #1 & fom sz
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70. In the diagram of human éye given | 70. IR Ry g wra 3= % sm@ # A,.B, C3M D

.below, the parts.marked by A, B; C and gra ifwd wmt = At few W fn s
D should be labelled as afRa?

' PR
AR ] N
3 . .
(1): A—ciliary  muscle; * B=pupil, (1) A—mgm Af,  B—geell, G,
C—lens, D—cornea - D—aitan .o
(2) A—iris, " B—pupil, C—lens, (2) A—-—m,'f; B“W, ,C—ﬁﬂ,
D—cornea DT »
() A—iris, B—cornea, C—pupil, :
D—lens (3) A—affew, B—itar,.. C—Yae,
, A 1}-%11
(4) A—ciliary muscle, B—iris, C—lens, | ) i :
D—cornea ’ (4) A—em A, B-»qﬁ?rrft?ﬂ c—3,
T : D—=ita., . A .

71, Impressxon of an image pers1sts ‘on the
retina of human eye for about

71.'%#3%‘(&#1«@%@3@%;{%&3%1

(1) 1 second o ‘ m?ﬁmmmmﬁmmaﬁrm%?
. (1) 1% "
2) :21- second ‘“ '
S ‘) 1 !
' 2) = ¥
. . 2
+ . ‘
, e : S
(3) —l—second , # 1 W BT
15 (3) —- dFS
15 )
hS
¢ " _
| . ) S
4) . d ' L e
4) 5 secon - | (4) oY .

SPACE -FOR:ROUGH WORK / & &® & fq sme



72.

'73'

4.

Study the following statéments : . ™
(A) Gértnination of seeds does niot take
place under dry conditions.”

(B) Nutrients get transported to each
part of the plant in dissolved form.

(C) The supply of water to crops at

different intervals improves the |

texture of the soil.
(D) The supply-of water to crops makes

the soil porous due to which }

exchange of gases becomes easy.

(E) Water protects the Crops from both |

frost and hot air currents.

The statements which justify the need |

to irrigate crops are o.

(1) (a), (B) and (C) - -

(2) (B), (C) and (D)

(3) (C), (D) and (E) ‘

(4) (A), (B) and (B) -~ v

Study the following staiemé}i‘ts :
(A) Chromosomes are located in the

R« ok B . o
nucleolus. ! e 0

(B) Genes  are l6cated “ in  the |

chromosomes.

(C) Unicellular organisms respire and |

reproduce.

(D) The most ir‘npqgtar}t‘ifgqction’._of cell |
membrane_is to control the entry |

and exit 'of materials from 'cells.
The correct statements are
(1) (A), B) and (C})  “=-: 1
(2) (B), (C) and (D)
(3) (), (C) and (D) .,
(4) (A), B)and (D) ° &

The ultrasound equipments used for

investigating medical problems work at
frequency S |

(1) below 20 Hz <

(2) between 20 Hz and 200000 Hz

(3) between 2000 Hz and 20000 Hz
(4) above 20000 Hz -

(72 Fr Ry et 1 s R W
(A) o aRffet 3 S 1 sipn A
%| B it T * )

(B) Sl wi-wred] F faftm awlt # wmE
Tel) ¢ vren 4 4 a2
() Rfim wma sraue W wEel R WA A
TR A a1 ¥ e ¥ G S
(D) Faat A et R gl F @ wly =@ R
e For b w e (sTEE-TEH)
e B S 2
C - (Ep S e TR (efa). sl A
@ g oo a0
3 o BA-R § S s A e A g Fw
(1) (A), (B) 3 (C)
it .(2)"‘ (B)’ (C)_»@’L(D); e
(3) (O), (D)3 (E) oo -
{4) (A), (B) 3 (E)

NETLIT NI L) o SR

73, 4= f%vum, l%wﬁ 7 3T A
(A) 1orE, Hisw § R 2R
(B) @, ot & e B

(RIS SR i

oty - AC) T RIRE i e A FE B¢

(D) Hifir R e TR o R
i weredl ¥ AR F afEe w5 R

i wd o & SRS

(1) (A), (B) 3 (C)

(2) (B), (C) 3 (D)

(3} (A), QD) r ozl s

(4) (A), (B) 3T (D)

74, fufrem & G § wreme & IEER % forg
I fFe SR 1 el |l IRl & &
sAHtemfrads "0 7 L
(1) 20 Hz & &

(2) 20 Hz 3R 200000 Hz & =
{3) 2000 Hz 3R 20000 Hz % =
(4) 20000 Hz & s~

2-M
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75. A solid rectangular block of irén‘is kept

76.

7.

over the top;of-a table with lts different

~faces touching,,the: table. Innd1fferent

cases, the-solid block exerts .-
(1)
(2)
(3)

same force and same pressure

o adagta o N
same force but different pressures
different anc__iﬁ q.ifferent
pressures ' -

forces S i1, 2

P sanas]

(4)

different forces but same pressure
£

'

L S N

In the diagram of animal cell given |

below, the correct labelhng of the parts
A,-B, Cand Dis =

123

e

(1)

wall,
C—chloroplast, D—nucleus "

A—cell
C—nucleus, D—cytoplasm

A—cell B~—vacuole,

(2)

membrane,

v
A—cell membrane,f* B——plastlds
C—nucleus, D—chloroplast

A—cell ~ wdll, B—vacuole,
C—nucleus, D—mitochondria

(3)
(4)

The odometer readmg of a movmg car
at 8:00 am.”'is 36540 km ‘and at
10:00 am. 36666km. If the car is
moving on a zigzag path with variable
speeds, its average speed in metres per
second is

(1) 6-3 S
(2) 12-6 |
(3) 17-5 “
(4) 35 L a Y

B—vacuole .

75

b,
9.

drees

717.

Boag -

W% TH W AR k- G A &
W gk i wast A 39 | T wQ
T T R -l ol R |y o ag S
T STARA FEi'E

(1) Rmaaaﬁtwaa

(2) ¥R 9@ wg P !

(3) fm-fim ﬁrqoaﬂ}‘ﬁa-faa &l

(4) Pra-fim s wg ¥@ T@

Oy

et

"76fﬁéﬁqma=§$‘|ﬁm%am@ﬁ/a B, C

st Dyt o TR &

7R (aﬁﬁ rvra%), [ -

A—FRE B, B-RfE, \C—hs,
D—=fRre b

A———Eﬁﬁﬁm 1"3@, B—Jﬁ@i C—3F35,
DT (Fha aaas) "

A—a?r&m ﬁTFﬂ B—?Cf%?m O,

(3)

4)

et aiforma . & qemrd (31’!3\1112'() RURIRE

I TR ] s ¢

sooa%qm 36540kmaexrma 10:00
T WIE 36666 kin 31 4R HR RN 9
R A T & T R, d R i

of g F st T B

(1) 6-3 N AR
(2) 12-6

@ 17-5

(4) 35 <

SPACE FOR ROUGH WORK /. T &H.% forg s
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78. A boy has a thick paste of turmeric:. On
5 . adding this paste to. hydrochloric acid
-+ and aqueous solution of sodium

hydroxide separately, what colour(s)
would he observe?

"

(1)
(2)

Yellow in both cases -, .

in sodium hydroxide*

(3)
in sodium hydrox1de

4 _
in sodium hydroxide

S

Study the following statements with
reference to the villi of small intestine :

79.

Yellow in hydtochloric acid and red |

Pink in-hydrochloric acid and blue

Blue in hydrochloric acid and red

(A) They are finger-like outgrowths and |

" thousands in number:
-1, et i

s - (B) They have very thin walls.

(C) They have a network of thin and
small blood vessels ‘close to the
surface. -

which food can easily pass.

The statements Wthh enable the villi to -

absorb the digésted food are
(1) (A) and (B) Only_
(2) (C) and (D) only
(3) (A), (B) and (C)

(4) (B), (C) and (D) .

- Ok

78. T o ¥ 9 T W MG U B 3F UL W

_EEgEiG o It Wifdn TRgieEs %
et - feem § -oTem-dem SRR W 98
%am/%vﬁwﬁmm?

1

(1) 'ﬁm"ﬁﬁ‘ﬂm t

"2) TEdE e § dien ok wiRem
FECAE L R i - A

TRgEE e § el i wifemm
o yglee Adften

S e § fen s G
RESECIFCR A

79. g5 ¥ fom (wWig) F = § 49 iy M
T & A R

A} ¥ el & TwE vl g dwnd A #
aﬁtsﬁ@awﬁﬁ'@?ﬁ%l

(B) T fufty gy TR AR R

(C) it ITh Fag % Prere gaw R arfRemad
wma%?nw%l

L s 1.4 mﬁﬁﬂﬁ?ﬁbﬁﬁ%%ﬁmsﬁmmé'
(D) They have small pores through :

TOR Tl B 1

A AW B R g e R i
- TR A HI &

(1) et (A) 3l (B)
{2) %= (C) 3 (D)
(3) (A), (B) 3 (C)
(4) (B), (C) 3 (D)

SPACE'FOR"ROUGH WORK / & &™ & fru smz
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80. Given below are some food items :

81.

(A) Boiled and mashedaijo-tato'
(B) Boiled and chewed rice
(C) A slice of bread.

(D) Sugar solution

(E) Coconut oil

Which of the above will give blue-black
colour when tested “with
solution? .

(1) (A) and (C)

(2) (B) and (D)

(3) (A), (B) and ()
(4) (A), (C) and (E)

While teachmg the correct method of
using a spring balance ‘to Class VIII
students, Gunjan mentions the
following steps (not - in- correct
sequence) to be followed :

(A) Note the zero error.
(B) Calculate the’ actual reading.

(C) Note the position of 'vpointer on the
graduated scale.

(D) Record the least count of the spring |

balance.

Which one of the following is the
correct sequence of the steps to be
followed for the said purpose?

(1) (A), (D), (B), (C)
(2) D), &), ©), B * -
(3) (A), D), (), (B)

(4) (A), B), (D), (©)

" iodine |

80. R o ™ o Ry #

81.

(A) ot 3R R amre

(B) Tt o <IN §Q T
(C) W& (33) =1 @ g
(D) =R (whu) =1 O

(B) e &1 ae

ARRA e % Wy waw w W IeE § @
4 fr-wren @1 wem FH?

(1) (A) 3 (C)

(2) ®) 3w D)
(3) (), (B) 3 (C)
(4) (A), (C) ¥ (E)

F1 VI & SE & $9FRR gon & @@
Sear faft ggr @ oA 3 W few g st
(Gﬁwﬁmﬁaﬁﬁqﬂq%)mww%
fore = :

@) s R e

(B) aeafes T TRl e

(C) siwifra I  w¥aw Rl e w@
(D) FAFIER g = < B

ﬁwﬁmﬁﬁwwﬁwaﬁwfmﬁﬁm
T §7

(1) {A), (D), (B), (C)
{2) (D), (A), (©), (B)
(3) (A) (D), (©). (B)
{4) (A) (B) (D), (C)

SPACE FOR ROUGH WORK / 6 &1 % fig g
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27

[ P.T.O.



82,

83.

&4.

85.

Which one of the following is-not-a

desired ob3ect1ve of learning of Smence

at upper primary stage?

(1) To acqu1re scientific literacy

(2) To develop rational thinking

(3) To acquire-essential -process skills

(4) To perform better in competitive
examinations : o

The technique - .of . grole-play is

considered to be an effective str ategy in

‘teaching of Science because

(1) it ensures better understanding of
one’s role in real life

(2) it ensures active: participation of
students in the process of learning

(3) itis likely to promote “social skills of

students <@

(4) it ensures breakmg of monotony in

the process of learning 5

Science is considered to be
_questioning, exploring, doing and
“investigating. Which of the followmg
activities, carried out by Dipika in
. teaching of: Science, is, best su1ted to
satisfy these criteria? :

(1) Unit test on mlcroorganlsms

(2) A group diScussion 'on ¢ommon
diseases

(3) A debate “on énvironmental issues
. (4) Project work on. naturq_ of sound

The .National Cumculum Framework

(NCF) ‘2005 recommends that teaching

of Sc1ence at ‘upper - pnmary stage

should’ emphaswe ‘maximumnm’, on

(1) relating classroom 1earn1ng to life
outside the school

2) memonzmg | sc1ent’iﬁc ‘terms
given in textbook ,. - ¢

(3) answering all quest10ns given in
textbook exercises t f1

(4) improving students’ performance in
examinations AT

82.

83.

84,

g wefe ww-fgm d@en = W i T
PI-T1 Jexd TS S T '

(1) St gean i w7

(2) afbs did R Fen -

(3) eavash gfgar-HrEra Wil w

(4) wfevft whensit § 31t weely &

g -Rggo § da-@ iR TS wTE e
Ay am w A T

(1) zrn,ararm shamﬁmn"ﬁq\ﬁmﬁ
et YRR @ awern glAfvaa el @
wﬁw&ﬂnmﬁmaﬁlﬁawﬁaﬁ
ghffm sy

77 BE & GuIReR puded ®-agmEn 2
awd 3 o1 oone

T3 aaﬁzmsrﬁsm ﬁ TG eﬁl GIECH
ghRffm ety -

T ) ST, @ T, FE RN
3, m)mlam 3 am-faga & @
z‘iﬁmmmﬂqﬁ%ﬁqm&mmﬁﬁﬁ
ﬁqm%?mﬁmwﬁ%mm
(1) gem-shal w gfie 3w .

(2) mmﬂﬁmw{i%aaaaf

(3) qafacta ar{waﬁqtma-ﬁaw
(4) wﬁaﬁmmq&aﬁnwﬁ

)
3)

(4)

N {

4

. ity rgEeal, i FREL; 2005 f f oy argen

(F&tﬂf’m)aﬁﬂé%%?amﬁmwm

W-&mﬁaﬁmmﬁmmm&l

(1) a&nﬁmaﬁﬁuﬁm%aﬁﬁsﬂaﬂé

A & forg

()qu@%ﬁmmwmwﬁﬁm
FAFfw - ©

(3) URATEH F IIE-F Wit W F IW A
w0,

(4) whanadt & ferenfiat & weuln © gaw oW F
1 S
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86. Geeta-is preparing a lesson-plan‘ for

87.

teaching the topic on ‘Human eye’ to
Class VIII students. Inclusion of which
of the following activities in the
lesson-plan is likely to be most effective
in helping the™ 'students understand
related concepts better?
(1) Preparing a good home assignment
(2) Dictating notes to students in the
classroom
(3) Using student activities and
interactive classroom questioning
(4) Demonstration using model of
human eye

On the basis of recommendations of

National Curriculum Framework (NCH),

2005, NCERT textbooks in Science lay

greater emphasis on

(A) discouraging rote learmng

(B) maintaining  sharp
between different domains of Science

curriculum
" (C) prov1d1ng «active learning
experiences to students |
(D) learning exact definitions of

S

scientific terms*
Which one of the followmg pairs

~ represents tthe combination of correct |

statements given above?

(1) (A) and (B)

(2) (A) and (C) o

(3) (C) and (D) GE g
(4) (B) and (C) S

. Which one of the following approaches |

adopted by a Scienceé teacher! reflects

scientific temper on her part?

(1) Maintaining perfect dxsmphne in
the class

(2) Covering the prescribed syllabus as

quickly as possible
(3) Encouraging students to
questions, in the classroom
(4) Preparing difficult questlon papers
to enhance learning

ask

boundaries

86.

87.

T e VII % Bt ‘arRe 35 v wen
% foq ue-demr wm @ ¥ AN Ru o
forarramt # R ue-asm F aEkE =0
s A gl 99 wwar @ e wEt &
wrafRa Teeuiall A ared WE guy g 7
AP R FHAT AL

(1) =31 78 w1 TF

(2) w3 Bt @ A fergam

(3) Bl % frarremd o wan F Rt
(4) 'maa?fﬁs_ﬁﬁaaﬁrﬁmhagm

g gt f ww, 2005 i Rrrfet %
YN 9 NCERT ﬁﬁﬂ & el § e
ae fian 1 3

(A) Qﬁaﬁagﬁgaﬁs?hwr%awﬁm

(B) fogm <t urgg=al & fafe ad- o & <=
ﬁmmmr@ﬁm

(C) mﬁaﬁ’”ﬂma@mmﬂ?@m

(D) AR get Y gerd aftsrmmd drey w

ﬁ%ﬁmwaﬁq-wwmﬁwaé’rmﬁ%
waeA el s 87

(1) {A) 30 (B)

- (2) {A) 3 (C)

8s.

@ ©shm -

(4) By @y T ¢

ﬁwﬁfmmmﬁmmm
# ¥ Fa-w swwn 3w RifE A dwhs
i fefa o gerfar £7

(1) e & qof STIemaT ST W@

(2) JuErE 3y sEfag UGN H @AW

(3) @l A ST By @ F R e
Eac]

(4) aftrm § w@ad = F o FT TE=-w

;m N N ! A B
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89,

The following steps (not in the. proper
sequence) are generally recommended
to be followed in scientific method :
(A) Testing of hypothesis

(B) Formulation of hypothesis

(C) Identification of problem

(D) Collection .of data

(E) Drawing of conclusion

Which one of the following is the

correct sequence of the above steps to |

be followed for this purpose?
(1) (©), (&), (D), (B), (E)

(2) (©), (B), (D),,(A), (E)

3) (D), (©), B), (A), (B)

903,

(1),

4 B), (), (&), D), (E)

Hands-on activities and projects form
an integral part of learmng of Science.

These learning expemences prlmanly
aim at

assessing the students on pract1cal
skills® ’

89.

90.

amfyes faftr & U gmmm: feafefeq. oot
asmrmmﬁﬁ(&wafqamﬁ el fu g
%)ﬁﬂmﬁmﬁ“\m‘cﬁ%

(A} TR 3 ﬁﬁma

(B) aReheqd ST

(C) wren H wEEm

(D) ATHS A THT FEA

(E) Frerd Feprern
ﬁm%f@aﬁés#wﬁmaﬁwmm%?
(1) (C), (4), ), (B), B) .

2 (©), ©), ©) @), &)

(3) (D), (©), (B), (A), E).

) (B), (©), (), (D), {B)

earg, s s s R e &
i 3t §1  sfm s w1 e v
(1) S Frere W B w1 gediE

30

(2) keeping the students engaged all
. the.time (2) oEl = W W R @A
(3) maintaining dlsmphne in the | TaTTeT # STgEIR
laboratory < (3) i A m e
(4) providing opportunity to students (4) T stfm % ﬁ'ﬂ @Tff T’ﬁ JF IS
for extended learning HA
SPACE FOR ROUGH WORK / & &1 & fiu s
2-M



Candldates: have to do'Question Noé 31 to
90 Either from Part—II (Mathematlcs and
Science) Or from Part——III (Soc1al Studles/
Social Science).

wﬂrmﬁfvﬁaﬁmwo 31@90ma‘t wiiT—11 (nfire 3fk
ﬁm)znm—-m (Wﬁﬁm/mﬁ%fﬂﬂﬂ)@
& B

C vl 7

PART—II / am—a -
SO_CIAL STUDIES/SOCIAL SCIENCE [ wrmfie sveaa /mmﬁﬁ ﬁﬁm

L'!}

Directions : Answer the following qugstwns
by selecting the most appropriate option

31. The movement Vande Mataram in
Andhra reglon was known.as
'..(1) Non Cooperatlon BRI
(2) Swadesh1 . R
(3) Civil Disobedience. .

(4) Khilafat

4

-
Sl ~
,.,

The book, Stn—Purush Tulana, wh1ch is
based on criticism of the ' social
differences. between men and women,
was authored by which of the following
scholars? )
(1) Pandita ‘Ramabai
(2) Begum Rokeyagr « -

(3) Tarabai Shinde g E
(4) Rasasundari Deyi

32.

-1 =
=
T
4

43, The Christian m1ssmnanes in the

19th century-wanted "to - introduce

Christian education in Indla to
“ (1) educate elite.class ol

(2) improve moral character of the
. people -
‘eaucate masée§ —

make Indians loyal to Company
government

.-

3)

4)
T

With.the industrialization of Britain in

the -19th_century

(1) Indla became main, suppller of the
raw materials to British industries

(2) India provided cheap labour to
British industries

34.

R *v,.v— .

(3) India became vast rtharket for
British industrial products

(4) many mdustnes were established

in India o

2-M
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33.
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35.

‘as Zamindars? oo ¢

36.

37.

38:

39.

40,

(1) AH; BF; CE; DG,
(2) AG; BH; CF; DE’

2-M

(1) Act of 1833  1zes v v b
{2) Act of 1858 e R
(3) Act of 1861 )

7 (4) Act, of . 1868 . Ta

; + .been found. : N S TE
Name of Present-day
the Site State

A, Chirand -E. ‘Kashmif©' ..
B. Koldihwa - F. {Uttar’Pradésh
C. Burzahom G. ;Andhra Pradesh
D. Hallur H. ﬂ;Bihar

In which land Trevenue. set‘dement the
Rajas and Talukadars were recogl:uzed
(1) Ryotwari Settlement

(2) Mahalwari Settlement

(3) Permanent Settlement

(4) Pattidari Settlement

+

bad

ey -

Begum Hazrat Mahal took'-an.active 3|,

part in organizing the uprising agamst
British at
(1) Kanpur

(2) Lucknow
(3) Faizabad - o
4) Allahabad

o
+ "‘-;_-l-

-
Aot L
LooaTe

wal g

Which of the following Acts transferred q
the administration of India from the
East India Company to Br1t1sh Crown?

In sthe medleval Assam;cPaiks.were
(1) forced labourerss " ¥% - *
(2) plantation workers~
(3) water carriers .
(4) members of conscript army

P

‘Manigramam’ and ‘Nariadeési’ were

(1) famous towns during Chold period

(2) famous guilds of South India

(3) administrative units of: Cholas".&

(4) famous  ‘villages . ‘given as
Brahmadeya to Brahmanas

Cited below are-some:sites:and present-
day States where the evidences of grain
and bones*'of domeéstic Animals have

The correct match *of ﬁthewabove two
columns is

T

3

(3) AE; BG; CH; DF
(4) AF; BE; CG; DH

s
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35.

1 -38.

39.

[

40.
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41, The Rivers Ganga- and Yamunarare
named —— in the¢Rigveda.

(1) around a thousand times ,

(2) a hundred times,
(3) twelve times
(4)*once a

v

42. Which one of the followmg featuxes is -
common to Buddhlsm and ‘Jainism
both?
(1) Only those who left their. homes |
' could gain true knowledge
2) Both of these rehg1ons
supported mainly by traders
(3) Man had to giveT up.” everythmg,
-including their , .clothes to gain
salvation
" (8) The constant ~craving -for more
. could ‘be. .removed by“followmg
moderate path

were

43. Who amongst the following said that,
“The upper castes had no right to their
land because in reality,. the land
belonged to mdlgenous people, the
so-called low castes™? )
# (1) Shri Narayan Guru.. .

(2) Haridas Thakur . a o

(3) Ghasidass ] ‘

(4) Jyotirao Phule = - ° -

Which one of the following statements

is appropriate in reference ‘to the

construction of Audlence , Hall

(Diwan-e-Aam), by Shah Jahan?

(1) White marble of the Ta_] Mahal isa
symbol of peace’ " *

(2) King’s justice would treat the high

and the low as equals’~ |

Contentedness in the subject helps

to rule better

It was a‘neceSsity to bring the rate

of crimes under control :

44,

3)
(4)

45, Who amongst the-following could not'

be a member, of~a‘~Sabha as, 1a1d down

in the 1nscr1pt10ns from, Uttaramerur in

Chingleput district- -of Tamil Nadu?

(1) Those. between the age.of. .35 -and -
70 years

(2) Those having, knowledge of the
Vedas B

(3) Those who have’ ‘their owri ‘homes

(4) Those who have fnot'*'stibmitted

their accounts .+ -~

2-M
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" 46i~Which one of the followmg facts does

@)

47.

h ‘and textufe”
B e 4 ST ]
. 48, Minerals that he near the" earth surface
T are simply dug out *by?the ‘process
known'as*™ For T AR
(1} quarrying
e FR (2).“calcination® B S
%~ b (3) ‘open-¢ast mining B
By sT.(4)rsintering Teas TG
43. The oldest rocks in the*T 'whorld are .
found in o
(1) Western Australia -- e
(2) South Africa L
(3) South India BT
(4) Hawaii Islands ks
- 50, Act1v1ty that changes raw material into

not hold true about Grama-Bhojakaq,

the village headman .in. the northern

parts of India?

(1) He was often the largestilandowner

(2) His post was hereditary

(3) The king never used h1m to collect
taxes

Generally, he had slaves and hired
workers to“cultivate the‘"land

Which property of a soﬂ is’ determmed

—

by the parent rock? *© =
(1) Rate of weathenng anid- humus

(2) Thickness of .soil,

(3) Accumulation of soﬂ o

(4) Chemical propertles permeablhty

products of 'hore value’ is called -+
(1) primary act1v1ty :

5 %(2) sécondary activity .

51
T

52.

2-M

(3) econom1c act1v1ty
(4) tert1ary act1v1ty

ERT IR

The Apache and the Crow are
(1) “tribes of North America®
(2) nomads of Kenya

> (3)* music bands of the USA A

4 documentanes on env1ronment
CE g f oup owe

Which of the followmg is an example of -

Sunrise Industry? ® V. -

(1) IT industry g Rt

{2) Cooking 011 1ndustxy P

(3) Paper mdustry o

(4) Jute industry T

V.

PR
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46.

47.

48,

49.

[

'50.

51.

52.

ﬁwf%wf@aﬁﬁﬁq-m<mﬂua%mwﬁﬁ

-y g % fva & o 37

(1) 98w agts{am‘k‘s’mm

(2) o vg forre  firern o

(3) TS X TE W oW e IR F R
s i feen

@) wm: mmmaﬁézaﬁlzﬁs@m
Gt F F Fofe g T H on

m%#-ﬁmmﬁa&mma@mm%?
(1) mmaﬁaaﬁz@mfﬁéi

(2) T e,

B) w0

(4) nm%qm,tm‘rmqamam

wae & e qm S T @it =)
o @ew e f wRen w0 s
Faa 47 1" )

(1} I+ SR T €
(@) Framm ¢ .

(3) Rga-um =

@) = s
gﬁmaﬁu@maﬁﬁﬁﬁﬁmﬂmﬁ?
(1) wfreeft sigfern °

(2) afeqor srbyerr

3) ShRmwma _
4) T g ot

- by

aéwrfﬁm@anzmﬂamﬁm
ﬁ;alﬁmmw%?

(1) ey fman

(2) fecfrr fomm

(3) anfdes fpnr -
(4) g e - v

ift i o PrefaRaa 34 wn 87
(1) 3of smde & wl @
(2) FifF-& gu (mrEd)

- (3) e % mfer S

(4) qqfawrm?ﬁ%a :

ﬁm%%aﬁﬂﬁa—mmrm1 F TH
Tt 37

(1) g1 shenfiht 3

(2) @ & e .

(3) = 3T ;

(4) wewa Iam



53.

54.

§5.

56.

S57.

58.

2-M

{4) deforestation _and _K__sgirli

“{1) 30 -minutes

Which region is known:as the»‘Orchard
of the World™?

(1) Orange Country of South Afnca
(2) Kashmir Valley of Indlaq
(3) Mediterranean region | ‘
4) Queensland 1n Australla

Which~ene of the following: helps the |

ships to navigate? . _ N
(1) Area of high tides
(2) Area of low tides

(3) Area where - the warm ocean
currents and cold-currents-meet

{4) Area of ocean currents

The radio waves transmifted from the
earth are reflected back to the earth by

{1) exosphere

{2) mesosphere

{3) stratosphere

{4) thermosphere ., . - s

The balance in the environment gets
disturbed if

(1} the relative number of splec1es is
not disturbed

{2) human activities continue to
preserve natural habitats

{3) indiscriminate killing of wildlifé is
banned Lo ‘

erosion

continue o N

Which one of the following is not a

principle of sustainable development?

{1) Maximum use of natural resources
{2) Respect and care for all forms of life

{3) Change m personal attltude and
practlces towards env1ronment
(1) Improvernent .in }the quahty of
human life .
S L X
Two c1t1es~N ‘and M are located at 15°E
and 15°W of Greenwich respectlvely
What will be ‘the d1fference in time
hetween these two citiés? '

Il

(2) 1 hour
{3) 1 hour 30 minutes - : !
(1) 2 hours
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69, The Minimum® Wages Act

60.

(1)
()
(3)
4)

specifies that minimum wages
should tbe -given to :labourers

specifies that the wagesshould not
be below a specific. minimum

allows employers > to  decide
minimum wages of their employees

covers only;government employees
under the organized sector -

Which Article of the Constitution
prescribes that the énforcement of any

- disability arising ‘out of ‘untouchabmty

shall be an offence: kpumshable in
accordance with law’g_:_ .

(1) Article 15

" (2) Article17 o -

61.

62,

&3.

(3) Article 21 : - gt
(4) Article 28 LB P

What is the key reason of »ine'quality
in India? :
(1) Poverty

(2) Religion W
(3) Caste .. . e
(4) Sex

R1ght to the constltutlonal remedies

(1) protects the Fundamental R1ghts of
citizen

(2) is  about  the  Constitution
remedying itself by amendments
.excludes,-the Right to Educat1on
Act, 2009 .

gives JUdlClaI'y the power to
strike' down a law enacted by the
Parliament® =

Q)
)

According to. the Hindu- Succession
(Amendment) Act, 2005

{1) only sons or. male merhbers of the
family can ‘have nght in’ family
property

(2) only - wife has right‘, .to inherit
property of her.deceased husband

(3) sons, daughters and their mothers
can get an equal share of family
property

(4) followers of the Arya Samaj will not
be governed by this ‘Act .

36

60.

61.

62.

63.
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64. Wthh of the following comes under the

65.

66.

67.

68.

2-M

4) Drinking water

function of the State Government?

(1) To maintain peaceful relationship
with Pakistaniand~“Bangladesh

{2) Decision to discontinue the Board

Examination for.Class X

(3) Introduction of new train between |

New Delhi and Vasco da Gama

(4) Introduction.of a new design of
1000 rupee note "
Dropout rates of Dalit and Adivasi girls

are hlghest because -

( 1) thelr parents do _.not: ° value
edtuication -

(2) of poverty and social discrimination

{3) of non—a;railability of all-girl schools

{4) benefit of their, education will be
available to the1r in-law’s family

Which one “of the «followi;ig is- not a
social advertisement? %

{1) Atithi Devo Bhava S S

(2) Life Insurance—Zindagi Ke Saath
Bhi, Zindagi Ke Baad Bhi

{3) Lane dr1v1ng is life dnvmg
(4) Save every drop ‘of water

Identify " the issue which is hardly
focused upon by the media.despite its
1gmﬁcance

(l) Murders and killings

{(2) Demolition of buﬂdmgs
(3) Gender sensitivity

3

With reference to _)udlclary 1dent1fy the
odd one out of the following provisions.

(1) Separation of powers

(4} Once appointed to office, it is very
difficult to remove a Judge

. (3) The judges are appomted without

any interference from the
government 2

(4) The tenure of service for judges is
fixed
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69.

70.

71.

V2.

(3) about

D. K. Basu Guidelines laid down*by-the
Supreme Court of India are about

(1) prevention of sexual harassment of |

women at workplaces

2) protectxon of children from sexual
offences in schools o

(3) procedures 't be used .by various
agencies for the arrest, detention
and 1nterrogat10n of Aany person

4) procedures to be followed for the

reelectmn in a constltuency
L .

In Subhash Kumar. vspState of Bihar
(1991), the Supreme Courf held that
the 4 g s

(1) Right to  Freedom, . includes
expressing cntmrsm of the
government -« -

(2) Right to Life includes. the r1ght to
the enjoyment of . pollution-free
water and ‘air

(3) Right to Freedom of Religion does
not include crrtlcmng the other
religions foa

{4} Right to Equahty should force
private companies t6 provide

» reservationrin jobs"

Which characteristic of the traditional

external-examination is-excluded in the

present school—based assessment?

(1) EmphaS1s on: systematlc learnmg

(2) Emphasis only on the scholastic
aspects*of learning®

(3) Consideration’ of the needs of the
learner

(4) Rapport among leamers teachers
and parents close to each other

Before assigning -a' new type of
assignment, a teacher must tell her
students

(1) that the forthcoming assessment
will be/willTriot' bé based on this
assignment LR LA

(2) about the we1ght1ng of this
assignment in ‘théir final result.

her : expectation . from
students in terms of learning from
doing the ass1gnment -

(4) about = thé"" requlslte previous
experience students must possess
for doing thissassignment -

38
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73. Four children of Class VIII were asked
to.;create some ;creative articles from
the. waste material: On completion of
the assignment, the teacher gave the
following observations. On the basis of
this--information; adjudge the most
creative .child.

. et
(1) Most of the time .uses 1mag1nat10n

is conscious not to use exanswe '
material

(2) Discusses with teacher constantly
and asks for- approval at each step

(3) With little gulda_nce, can' make
reasonably good items . -

(4) Skillful and possesses "a vision to |
.. , convert waste material  into

" productive items
'{d

74. _Projects,,in Social Science are useful
a. in theme-based tasks

b. if they do not 1nvolve collectlon -and

analysis " P T
c. if based on conte)&s' from “within
the text"
3 e (‘i-
d. for the group work 1n class or at
home

Which two- alternatxves from amongst
the forms g1ven above are correct?

(1) b and’d

6‘2)" aandb o L
3) 2 and d |

{4) ¢ and d -t

75. Capamty Building Programmes are
esSential for the teachérs.’ of Social
Science because *

(1) they are related to their

professional growth o

(2) their imcremefr:it in salary is
contingent upon Capac1ty Building
Programme

(3) schools have been asked:to dé so by
the CBSE to keep the teachers busy

(4) they require conceptual and
pedagogical clarity in different
components of Social Science
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76. Ih~a Social Science class; which:one:of
‘& the following-i$ & suitable method for
E,gunderlmmg«{the phenomenon that
.common areas - -and open, spaces in
“rural areas are d1sappearmg fast?
(1) Make presentation:with,thethelp of
computers+ . & w. .
(2) Discussion on the ba31s of text
presonbed T w7
(3) A survey'project?
4) Group d1so}1s‘§103} 10\{er the topic
77. The Nat1onal Policy son:~Education
(NPE), 1986 suggested the development
of> 1ntegrated nprogrammes “for the
(1) educationy of BGYS® dnd’ ‘girls together
(2) education of the mentally disabled
(3) handlcapped children to. study in
" i'reglilar schéols ™" NF- —Q-,-
(4) handicapped children to 'study in
special schoo;ls P

Ly

78. A student in Class VIII 1s extremely
upset "over HRer’ mablhty te” wrife on a
prescnbed -topic. -Her. teacher advises
“that she may approach’ fthe" a351gnment
by breaking it into parts’ “Wwhich are

- more. farmhar to her, Which of the
followmg is 'the most appropnate with
this method? ..« &% - * S

how the topic is related to the
assignment d »ne - o

(2) Prepare a d1rectory of books,
articles and Web+*sités “about the
topic i 4y

(3) Find two sources of mformatlon on

the topic and find their common

- > - featul'eS F e P F!'; —" ‘“m)— 2N

(4) Prepare azpaper; andéreadﬂt to a
friend to determme Whl(‘h parts

~ needst6 be-révised -, i

v, 79.=Which-of jthe, followmg approa(‘hes has '

‘been used extensxvely to..cfamlhanze
students with ideas ‘in the textbook
-Social and PolltzcalLtfe pubhshed]by the

NCERT? i Y e S §
(1) Time line

- (2) ‘Gr_aph R WaOETR 4
> (3) ‘Chart % ™ fie fgmowr
(4) Storyboard ¢

2-M -

. ,'!‘« v
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‘80 »The content. of Sodial Smence should
- v FRET 3 T e
(1) provxde comprehenswea ~1nforma-
tion about the sécial ! issués and

thelr solutlons" f“ "*"}m"ﬁ (r

: R g :

(2_) excluswely focus on 1ssues related

™ to” sé¢ial reality* and ¥shotild not
encourage scientific* method of

: joresearch, . . i 2 T

3 s

{3)~aiff at ‘Fdisifig’studénts  Awareness

-nabout~4History, - -Geography, and

~ -Politics ; gof: ;. India .and  the
interconnection among these

(4) aim at raising students’ awareness
s ~~.'f¥through xcntlcally exploring .and
' questioning § familiar-social realities

- 33 ‘B’E»‘f’;{.? Sy ‘!,[V.f i q. :.-’ - (_{,
81, To make fextbooks representative of all

. -regionsand social groups ;3 (¢,
()

conténts: rrélating toTall regions and
social groups. should,"be added in
textbooks, .

T A HEN E h-b L tw!‘? :“s, . ;, }
{2) Televant. local contentsshould be
-part<of teaching- learnmg process

drawmg on localyresources
= e IR P

(3) textbooks shoulld be written in all
* f"J lang'u’ages ‘of the country speciaily
PR ginmy languages~ mentioned ,in the

. 5535 Schedule VIII,of the Constitution of |

India 3 eTra B |
(4Yacommon ~.isSues jamong ‘regions
must be: hlghhghted,«exclus.wely to
promote the spmt “of federral republic

s LEd P

i? DA

82. To sensmze students about the gender
BT OVE T
issues™and “réle of Socialization in

gender d1scr1m1nat10ns, schools should

o (1) encourage team teachmg and

includé 'male” as*'well 'as female

teachers .
& T A %) t‘.t ., S T oo
seminars -,on gender

{(2) organize
A sen31t1v1ty by

D A

1nv1t1ng15 er§unent

i

CET

speakers’
Y

m(3) ask_teachers. Jo .use case ,Studies

i and’ give: conicrete’ exa.mples :

T TR

. ,.(4) make rules,? that, boys are not
o allowed” to practme dlscnmmatxon
TR agamst girlsei . wATR
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83.

While discussing the functionsi of .the
State Government, issues related to
health, water, transport etc may be
dlscussed to

(1) make students aware how their

84.

85.

86‘

@

State-is doifig on"thesé-accounts
(2) make ~students' remember about

the role of the Government in these

areas . _
(3) allow learners torunderstand these
views TP
enlighten students
movements for better facilities for
211 S : .

¥

(4)

The National Currgéulum Framework, |
2005 proposes thdt Geography should

be taught to

(1) instruct the role - of diverse

geographxcal features of India in its |

economic growth ~

(2)cguide students .about  the
destructive . effect “"'of hatural
disasters on the economy of India

(3).
(4)

and utlhzatron of natural resources
inculcate a critical apprecnatlon for
:-conservation and env1ronmenta]
‘concerns. .y
Regarding Pedagogsr and resources for
Socxal Sc1ence the National Curriculum

Framework; 2005 says that teaching of |

Social~Science must adopt
(1) strategies that help students to
remember facts for longer time
(2) mind maps that enhance quxck
retrieval offinformation
methodS’ that™'promote creativity
and~criti¢al.perspective
_approach involving maximum
teachmg ards to promote mtelhgence

Scaffoldmg in a Soc1a1 Science

classroom primarily intends to

(1) strengthen -the desirable outcome
in the summative assessment

(2) help the students till the time

independent thinking is possible

(4)

(3) assure the improvement of
self-regulatory skills

(4) énable the students tof envisage
"ideas

42

issues and - express the'lr critical |

to organize |

focus-on the optimum extraction |
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87. The ability to break down mformatlon
into smaller, pieces “and: fo establish
relation among parts and the whale is

(1) understandmg R

(2) applying : )
(3) analyzing

(4) remembering

88. In order to optimize the time students
spend on academlc act1v1t1es a teacher
should

(1) plan, teach, and-impose:timetable
for trans1t1on times and. classroom
act1v1t1es o

e

assxgn homework at least twice a
week in core content areas

(2)

i
ask students to read new. topics
before discussing them in class

(3)

(4) present new matenal followed by a
question-and-answer:’ session - on
the material -

T BN

89. Inductive learning is contradlctory to
' which of the following approache

[1) Simulation :
(2) Expository teachmg
41.13). Mastery learning
' +(4) Struttiire trairing "%’

90. Wthh of the followmg statemenfs is
trie with regard “to effectlve reﬂectlve
practice in Somal Scxence teachmg?

(1) Peer tutonng should . be done
carefully because it affects tutor-
students own reflective potential

{2) Reflective practice should . reject
those f students’ mputs that
challenge teachmg practlces for the

sake of classroom d1sc1p11ne

Reflection must exclu_de those links
to conceptual frameworks that limit
inquiry and problem solving

Teacher must €reate atmosphere of
trust and flexibility to every
learning situation
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_ : Lg by Lr L
Candidates should answer

questions from the following Part
only if they haver‘ opted for

L!ENGLISH as LANGUAGE—I.

I daw At § AR} R W
&1 Rweg A g1 &

PART—-IV : Language—I
ENGLISH . - -

. ) .
Directions : Read the given passage and
ariswer the questions (Q. Nos. 91 to '99) that
follow by selecting the: mést-v.qppropriate

opition. DT W

Have you ever wondered what-the qualities of
a really professional teacher are? I know that
all teachers want their students to like them,
but being liked isn’t the be-all -and, end-all
really, is it? I mean teachers have to make
some unpopular decisions sometimes.
Tenchers. can- be .popular just because they
arc friendly and helpful, but to be truly
professional and effective, we need to be able
to identify the skills and behaviour we
require-in a true professional:’A" professional
teacher needs to be confident without being

arrogant. Nobody can expect to have all the

answers, so, if a student asks a real stinker,
the professional teacher should be able to
admit defeat but offer to find otit more for the
student. And they must carry sthat promise
out When the teacher enters the-classroom,
she/he should have. all sthe~~ required
materials and the lesson-plan ready. And, in
orchestrating the class, the teacher must give
everyone ‘their. chance to contribute and
should:be flexible.enough to modify lessons if
they are obviously not going to plan. Indeed,
a fallback position is part of good planning, It
stands to reason also that a~teacher must
observe punctuality:and appropriate tidiness
and dress : it is not possible:to.demand such
behaviour from students ‘if the teacher
doesn’t set the standards. . -« .

The last thing I would  rfiention is that
teachers should be able to feel that their
professionalism entitles them to back up
from the school directors. If a teacher has a
problem class or student, then :the school
should have procedures for handling the
difficuilties. The teacher should not have to
feel “alone ‘and ‘wvuliierable - if a difficult
situation arises. So, yes, professionalism cuts

2-M

| both ways : in the standards we demand of
teachers and the framework we 'have for
- giving them support. _ A
91. The expression 'isn’t the be-all and
end-all... is an assumption that
pertains to the —— point of view.
(1) writer's
(2} teachers’
(3} students’
(4) general

92. Here, the fallback position is the
system where —— well-prepared.
(1) good students are
(2) good teachers Aare , N
(3) teachers, even if caught out
unexpectedly, are still '
{4) students and teachers who support
each other are

93. Here, able to admitdefeat implies that

(1) students can ‘catch’ a teacher
unaware '

{2) teachers easily lose self-confidence
as they lack professionalism “*
it doesn’t matter if students often
contradict what their téacher says
teachers” should be ‘confident
enough to ‘own Lup-.to their

‘unpreparedness’ ¢

(3)

(4)

94. Here, orchestr;a:tin'g the cf!qss‘ suggests
(1) the teacher controlling the class to

ensure high grades ™

44

(2) the 'whole class performing
uniformly well S
(3) acknowledging -thé ‘individual
differencés in" ‘the process of
achievement ,. . 4
(4) that music helps academic achieve-
ment .
g



95. Here, ...asks a real stinker.....suggests
that 5 v - ‘_\n :

(1) teachers are always {inprepatred "

(2) students can be better informed

than their teachers
v g dﬂ.&b o

(3) students dislike teachers:in general

(4) teachers are unprofessmnal in
students’ eyes it

96. A word that can best replace the word
- _entitles in the passage-is

(1} warrants h

(2} names

(3) calls .

(4) gives

97. The writer’s view that professwnaltsm
cuts both waystmeans WY

(1) teachers are faced with students
and trustees ., hold: them
accountable '

(2) teachers teach well when trustees
- pay them well‘nu ke

Co- - [FeNa o T
(3) trustees and thelr_ ernployee% owe

each other support

(4) ‘'students- and ‘téeachers-owe 'respect
~ - to the management of the1r school

98. A word from the passagejthat is the
antonym of the word unshakable is

(1) vulnerable

(2) difficult . 7

(3) helpful T es
(4) effective

99. Here, framework refers to the overall
(1) school curnculum .(: -
(2) clearly spelt out duties for teachers

(3) system for assessment of teachers’
performance

(4) transparency in ﬁxmg teachers’
salary .

2-M
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Directions : Read the given poem and
answer the guestions (Q. Nos. 100 to 105)
that follow by selectmg the most apprc:przate
option.

HAWK N

All eyes are fearful of the spotted hawk,
Whose dappled wingspread oﬁpens to "

- a phrase
that only victims, gapmg in the gaze
of Death Oc currmg can recite. To stalk;
to plunge; to harvest; the denial-s squawk
of dying’s struggle; these are but a day’s
rebuke to hunger for the hawk whose glazed:
accord with Death admits no show of. shock

Death’s users know it is not theirs to own,
nor can they fathom all it‘means td'die—
for young to know a different Death from old.
But when the spotted hawk’s last flight

5 is, flown,
he too becomes a novice, fear-struck by
the certain plummet once these feathers fold.

—Daniel Waters

e T v

100. The demal-squawk refers to the

(1) hawk’s respopse .t:o the pry of its

prey
(2) helpless cry;,of 1tg';pre§y: to avert
death

e o it
(3) warning cail by the. hawk before
killing its prey

(4). despe;‘a_fe, 'Ipitigtgle_Lci;y of the prey

101. To the hawk, a day’s rebuke tohunger
suggests that the bird: - .

(1) bows to hunger.. = .1g,

(2) causes death by preying on lesser
anirgals - .

(3) averts own death by kxlltng and
eating its. preys

{4) faces death fearlessly in contrast to
its prey A e

[ P.T.O.



102,

354

PONE IS T

(3) death is
.., starvation

Here, glazed accord with Death:means
that T _9, A~

CAGEE TE -

(1) the prey meets death wﬂhngly

(2) death is inevitable

(4) ‘the hawk also becomes a victim of

death at the end c

sl

1035'The ‘word that is closest'i in’ meamng to

104,

‘the word dappled in the poem is

N9 N
(1) spotted .
VY B (_

(2) fearful ;

@) gz, .

@) flown

Here, he too becomes a novice suggests

that R
oot : L

(1) the hawk’s prey becomes a
' predator instead'* =

10%.

2-M

(2) all 11v1ng creatures are potentlally
victims' of others -

(3} death comes sw1ft1y to the fearless |

hawk “-
T T
4) the hawk also meets death, as
weak-afid helplessTastits prey

The following line exemplifies the use of
personification'as a poetlc device

(1) Death’s users know it is'nhot theirs

to own,..
(2) ...the certain plummet.once these
feathers fold.

.(3) To stalk; to_f_.plunge;;to"harvest'...

(4) But when the spotted hawk’s last
flight is flown... .

N
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Directions : Answer the following questions
(Q. Nos. 106 to 120} by selecting the most
appropriate option

106.

107.

P . i -

Providing students -—— can encourage
second- la'.nguage acquisition. 'L

(1) adequate speakmg and writing
assignments

(2) : the ~opportunity ..to voice * their
opinions and. to.problem ‘solve in
the target language

(3) frequent feedback on spoken and
written outputs

{4) informal interviews

Generally speaking,. ithe first language
is

(1) marked by “the characteristic
difficulty in mastenng it

(2) marked by “the mﬂuence«, of the
school enwronment the child is

‘studying ué, L ﬁ

- (3) marked by-the,accent and regional

108.

expressions ,.of the, jarea where
students grow up

(4) influénced’ by "the’ grammar and
“style" of second lariguage "

[ I 4L

Language learmng is better achieved if
what students learn T

(1) is closer in form and sound to their
mother tongue

(2) helps them improve their chances
of college admission

(3) is functional in terms of their life
values and goals

(4} is in' a
environment

controlled. classroom



109.

AT

110.

An activity. asks .students to determine
from a.list of possible answers with a

_title, ‘what kind of . 1nformat10n will

appear in an input text before an audio
recordlng is played. Here students are

(1) checking for facts. * . .» !

(2) guessing answers to°questions
(3) filling in missing information
& 0D

(4) actively predicting the content of
the input

.o ) : ¥y

A speaking activity )can be made more
purposeful by

. (1)} insisting on correct  structure and

111.

pronunciation . -+ i ¢

(2) interrupting the act1v1ty ‘with' some
writing/reading

(3) motivating students to complete a
task at the end

LY

(4) providing .a- specific list of
vocabulary to use

i

oW b )
In the commumcatlve classroom,
learners acqulre J the grammar of

second language to - L

v w2

(1) enhance their formal communi-
cation skills

(2) write conﬁdently

(3) understand second larigﬁage better
while reading/listening to it

1 caem
4. T

(4) understand how to make meaning
v .- -and become more .proficient in
speaking and writing - -

112,

Structures, in second language are
better assimilated, in a pedagogical

, 'practice C ,. O
\

113.
L
1o

o

114.

(4} being, taught . by .

X o ;

(1) through meaningful
with interesting content
I e T Y4

(2) insisting i .on . accuracy,
instruction in rules

interaction

explicit

Y ) .
Sy, ERNNPO: S '

(3} through repetition arld }pracuce of
commonly used1 syntax
AT @ T s SR

T ¥ A S ¥ 1. B
(4) through application, ., of learnt
structures in discrete language
items
by [ T 3.0

Error correction in students’ written
work is most éffective:whenithe teachér
T R Sl TR #* 114D
(1) writes out the correct ansivers on
the board

B R S U 1T . .

(2) révises ‘the“Cwfong answers with
them
e S

(3) points out major e€rrors using

symbols and students self-correct

-

e ow wedg
(4} gives students more:; dn {1 work till
they ‘learn’ the correct responses

RS N ", 4 9.

Students always find it difficult to
listen to and understand a second
Iangu age presentatlon insidé’or outside

their class. This can be hekped by
. 3N

(1) increasing the number of periods
for thé'second language-
I Re il s S ~N
(2} practice by usmg th 1e second
*. language more.*.c."’ s

(3). recommending to choose another
language :closer to. L1~

only . native
speakersjof-L2 . |, .

[ pA.O>

S




1'L5. ‘Wheén they encounter unfamiliar words
‘during a -reading activity, students
should be trained to —— .while
processing the meaning of the whole
~ostexts; SRR Ts ¢ Fo Feliie s ~
AT B, -
(1) refer a dictionary to find out the
. meaningsimmediately -
[OUMUE T s { B e e S

(2) ask the teacher or ne1ghbour
Seop oL S|

(3) use 1nformat10n in its context to
correctly guess its rough area of

fis meaﬁmg*” 5T I S A

'Yy fadc RIbT O TN NPl § P S

SO
(4) choose more simple texts

ol ot et 2t vmtrovion oo a4t |

- 116.:Identify. - the\question ~that . assesses
students’ ability to infer the meaning of
. thefext. . .

4

(1) Why did Mohan change his mind

w z1sdespite his parents’ advice?

(2) Where did Tom and his parents
v ~11ve?

" - . . -~

l “a- -

(3) Use the phrase in disbelief’ in a
* ... sentence of.your own.

O TS

(4) Give the opposite of ‘delighted’.

7

ot e TN A

PR ta ) )
li 7. Whlle ;assesé}mg a report of a school

programme for a class journal, the
followmg are the main criteria

B T 1O UL S .
(1) Descriptive i presentation title,
writer’s name

% ” \i‘}_‘,‘v’ .’I-" .'|' '.;

(2) Word limit, tltle, factual descnptlon ‘

21103} Literary ' . style,r .uichronological
presentation, -word “limit 3

? 7 7(4) ‘Rélevance, loglcal orgamzauon of
content, a dlrectﬂstyle

| 118. While learning a language the

-

-instruction provides opportunities for
’1'-"- indépendent study; a wide range of
L reference matérial “drid 'immediate
feedback dbout-achievémerit.

(1) programmed .. .

(2) Czon_lpu‘ter;z}id:e('i‘ -

53

(3) direct

{4} distance

' 119. A dual-language classroom consisting

of students speaking a native language
and the target language is beneﬁc1a1
" because it .

(1) motivates target language speaking
students learn another language
and vice versa

(2) offers an opportumty for separate
project work

(3 justiﬁes conducting' more activities

in each language™’
idd

(4) causes less distractions in the class

as students will talk less

120. A student has difficulty in applying the
learned knowledge, for example, |

word problems, the student also fails to
translate sentences’ into equatlons or
identify the variables. A’ possible

solution to this problera could be

0

(1) pairing him/her with  high

achievers

(2) giving carefully désigrred assign-
me nt—sunpler—31mple complex
o RERARES S 1Y &
(3) allowing more time 'to complete the
same activity

¢ -
IS S Ao

(4). giving only simple- assignments to
boost their confidence - -

2-M . 48



Candidates should answer
questions from the following Part

only if they have opted for

HINDI as LANGUAGE—L.

ghtemref facferfaa m'%mﬁé‘;
I Faa adt § gl IFT NET—I
#1 fawew @3t g &h

Hqr—IV

: S?NT——-—I!

=i

3w (v s&a 91 @ 99) : ¥ fiw g mrw #A
qeat TR @ feer w1 = il '

e @l 3 oe-3a wafwEt e €, @ i
3 R@ 7 A, I A-ung TE fa, = e
T A TR, YA @} AW I R @ I AR
@, @ off ok w3l s W F 9R W FEER R
e € @ A grawE @ T, FikE we-AEz € Ry
W wd et B osee fm G w0 B
A HES 30 MUR W T Fen =ifee 7 a8 s
vge ¥ 3 o FIE HW FE F TR A8 3@ AWK
W T wawn ARke 98 FW v vl T8 3
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wraell, gIERSTE % IMUR | Fas T | 39 & a@
#H ww IR v B w@e ot ToEe ek wed €3
wg # W TR UEEMd O T IR AW TR
-1 geHd &1 3 @ W g ek b 9 g
A WA @ ¥ TR et = e T w R e
Aoft T o el @ faweww

91. ¥ yafml T 87
(1) s =@ 1 g TEdt &
(2) s o€ | R &
3) ot ol 1 9| &
(4) Tl o ol @-fea w1 v @

92, M-8 F g H A A 7 §7
(1) St 57 & ger 3R f&a g §
(2) S 37t qEE-TIEE & InuR W By 9w §
(3) Forwi we srgfea gen 3 |
(4) fom 9nR he-FeH W Bl §
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93. T8 Ty # fFa yer & st w1 awdw e
™ 7

(1) < o= o &

(2) < T= 9 B €

(3) N gfg 3 fEw-ufe & sm w frg
i

(4) < wereh el ohk gfE A R A &

94, 34 wary # fng wig w0 B7

(1) waeeft weamd

(2) grerfiensht

(3) 318 o w@rd

(4) Tha-wfy
95-§wﬁiﬁm§aﬁ%ﬁmﬁmam-mqvfgm

p A

(1) foreetaw o

(2) w=x a1yl wE

(3) T-oTR F

(4) = Fen

[ P.T.O.
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L
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TS
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fog = d ‘@’ Suwl 1 owEm T R e
el 87
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(1) et
(2) TR
(3) W&’

(4) I

Yo, ‘Fredwr w few &
(1) Gy

(2) Afavayor

@ W,
(4) Ha&mu S
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fAdwr (v dem T100 @ 105) ¢ R &
F-fRE BN Te. vy 3R REer @ 9.

| Ffss R

@y L omteE RS-l T g 3,
i A w1 e T g
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‘(4) ¥ T et ?
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ENGLISH as LANGUAGE—11. |1 Rea ST0F gar-gts-.
Yy . ~ M,'.;‘* ,‘ " (AR T2 B 'IUH.‘-'.; [
PART ~V : Language—ll L
SRR ENGLISHf S
Sy g (S . PR T IR
«w L oead &,
Directions : Read the gwen passage and | other ways and places in which

answer the questions (Q. Nos.,121 to 129)
that follow by selecting. the most appropnate
option.

Anthropology is the holistic "é"t'ﬁdy" of
humankind. It studies all’aspects of human
life in all geographic‘ regions' ‘of” ail txme
pericds, from its evolution as Homo sapiens
to its diverse manifestations within; cultures
and nOCletleS, both past and- present -Since
to such, probmg quesnons as Who are{we ?
How have we come to be as we,are(? How. .can
diverse peoples peaceabl‘z\} coexzst ?‘andL !VJVhat
might the past and present tell us about our
future? Anthropology seeks!tovanswer ithese
and many other fundamentally humanistic

questions. Anthropologyi employs« . both
qualitative  and: (quantitative .:aresearch
methods  within - -its | numerous d sub-.

disciplines. Commongto, ally anthropologists,
is the method of fieldwork. ;A wphysical
anthropologlst may . observe w11d. or, captlve

R,

clues about humankmds ongms and earlyJ
migration patterns,) a W whxle o @0 applzed
anthrupologist plays garnes with ~disadvan-
taged schoolchildren “i‘to3 ‘advisex?2school
administrators .on -how 2to :create:conflict:
reducing  after-schéol s programmes. A
socio-cultural anthropologist may:live iha-hut
among tribal communities to: learniithe
meanings of their unique rituals.andspolitical
economy, while a linguistic fdanthropologist
interacts .with native language,speakers,at -a
family function to .discover clues; toy-their
cultural retention am1dst a,, globahzmg

society. Within each of these and the myriad |

2-M

s
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anthropologlsts conduct day-to -day )esearcb
they seek answers’ to beneﬁt humankmd
Anthropology has been “described as “the
reformer’s  science”, and », -ithe ) most
humanistic of the sc1ences and the most
scientific of the humanities™1. o2

121. The prime function's of ‘an anthro-
pologist is to —— human hlstory and
behaviour. :

(1) watch
(2) record - 14t .-, . T
o U(8) predict v ' |

oo L ey

i PP,

Y = 2(4) .analyze. ,i! ~n. o s
1A HYV B Aal !

122, Quality in the given context implies
(1)

the tools of research used durmg
VISIt‘ . 3. imn

(2) positive impacton- sthevcommunity

being studied

Fas
community benefits
anthropologist

(3) “shared by

(4) use of test methods of researche r
. - NeNe BTty

— anthropologlst describes and
analyzes the’ dlverse peoples of the
world, extending to’all forrns of human
association, from village communities
to corporatg jcultures to urban gangs.

ROVER

123.

(1) ngLustlc

1o (2) Appl ed) rapes o rjuf‘i’;: (-
©) S"-‘i‘°f‘é‘«‘“;f"?‘l_ oG ek
(4} Physical . ., TR

| PA.O

. et R el



1221- .The writer suggests that A'x}thropology

125.

126.

127.

is a_discipline that,leadssto g

(1) -removal- of . -diversity. of human
~ cultures = )

(2) greater globalization & - -,
promotion  of
individuality in human society .-

(3)

(4)
diversity which leads to harmony

A word that can best replace the word
line 01 of the passage is

holistic in
(1) spiritual

¥ H

(2) comprehen-sive-»
(3) mystical e
(4) healthy

A/An —- anthropologist «studies
human and non-human_ primate
evolution, human varidtion and its
significance, and the biological bases of
human behaviour.

. &Y
+ ’ Vo - i

(1) physical

" x

(2) linguistic
(38) socio-cultural
(4) applied

LS

The discipline is referred ‘to ‘as the
reformer’s science because

=

c o, .
(1) necessary ) .ch‘angeﬂs can easily be
introduced . .
(2) laws can be ‘applitd with little
' resistance o B
(3) of being a favoured field of study for
scientists Boim sy

. A Ciw
of its potential to improve human
lives in general * ¢

(4)

B

diversity and”

deeper understanding of hurian.]

128. An antonym for the word countable
from the passage is -
(1) captiver ;-
(2) diverse =~ »
(3)-disadvantaged ° --
) myriad._ A
-129. The phrase. the_most. scientific of the
humanities means conclusions can be
‘drawn
{1} based on the researchers’ instincts
(2) on humanistic grounds

(3) based on factual records
*“obServations - B
T 4) *rt'ﬁi;od'gh personal-interactions with

-
-

~
b

of

i “§tudy subjects

Directions : Read the given passage and
answer the questions (Q. Nos. 130 to 135)
that follow by selecting the most appropriate
option. ‘

LD

The President of" Earth glowered at the
auto-cue”and . thé television' camera in the
small présidéntial studio which was where
he should have beért ‘fight now instead of
reading ‘ridiciilous” public service emergency
anhouncements. ' -
It was -his dayoff and he-reckoned that the
world -and its ~wretched -public  service
announcements shoulduwaitiuntil tomorrow.
Unfortunately, thé world didn’t want to wait
afid the World:Parliament had prepared this
announcément for him' to. read so he was
glowerifig at everyoie The auto-cue started
rolling and the Presidefit’relaxed his scowling
face and beaméd itito the television camera,
exuding borihomie to theé billions who were
Watsli?mg as he rgadf!_f;'om the auto-cue.
‘e I &t -

Scientists are today investigating objects that
are appearing. across,the -world and which
seem .to present a degree of danger to
anybody touching them. World scientists are
advising" that, under no circumstances
should these “objects be touched. A heavy
metal’object that is floating on a pond would
be such "an’+example. A tree growing out of.
con{:jz;ete would be anothiér. However there is
no 'gu‘ér'é.r"mee that objects will” always have

this’ incongruity dnd” Scientists are advising

54



the general public to proceed with great
caution, especially when at home where
unfamiliar objects may bé Tmore easily
identified. After reading the émnounc’ement,
the President of Earth leaned back-in his
presidential chair and gave his most
reassuring smile. Well that’s it folks. Take
care while we get to the bottom of this. You
can be sure we are working on it hard. So bye
for now, from your President, goodbye !

130. The contradiction is cthejréd in the
phrase  ridiculous public service
emergency announcements by the word

(1)
(2)
(3)
(4)

public
ridiculous
emergency

service

131. The expression

means

exuding bonhomie

(1) appearing friendl‘y
(2) showing pride

(3) appearing tired
(4) lacking patier;ce

132. The President was glowering at

everyone because he was
(1) tired '

2} angry

{3) frightened

{4) forgetful

133. "The incongruity lies in

(1) strange objects seen everywhere
and frequently

new objects appearing where none
existed before

unfamiliar objects that cannot be
touched :

familiar objects seen in unexpected
places ;

134. A word that can- replace the phrase
get to the bottom of is.

(1) clarify
(2)
(3)
(4)

misunderstand
estimate N
explore

N TS

135. The writer’s attitude is one of ——

towards leaders. . ...
(1} admiration

(2) indifference -

(3} distrust

(4) deference

B

Directions : Answer the following questions
(Q. Nos. 136 to 150} by -selecting the most
appropriate option.

3 vyt ' e y
' 136. Two competency areas, which give a
language learner in progress the ability
to communicate competently, are

(1) linguistic and soc;id;c11itural

(2) discourse and accent-
: ‘ it B
(3) audio and expressive

(4) grammar and phonetic

137. Communicative competence is a
subset of functional' grammar and
its approach in teaching will allow
students to PP

(1) learn structures and use them
accurately 0

(2) wuse structures in a range of output
texts

learn grammar through meaningful
communication

3)

(4) enable teachers expose students to

55

grammar in the lower classes
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138.

139.

140.

2-M

.

When students work  in. pairs or
groups, they just end up chatting in
their own language. This can be
overcome/ monitored by -

giving an éasy task,

(1) so that they
may chat less .

(2) writing notes on the bdard, so that
they will not use L1

R

(3) increasing the difficulty level of
task

(4) instructions for the task and
objectives to be made clear first

To assess listening skills, the teacher

has framed an activity.: What can the
assessment be based on? .

(1) Students’ interpretation of a visual

(2) Watching ‘ a - short film and

reviewing

(3) Compileting a tabulation based on
an audio recording

(4) Reading a text aloud

To develop language  functions,

teaching of speaking skills for younger
children would include

(1) greétifxg, informal, requests, asking
for personal information

(2) telephonic chat
(3) debates and ‘declamations

Wi e

(4) short project presentatiéms

56

141.

1 4‘2.

143.

Leamers who develop an .increased
awareness. of ‘their own style’ of
learning and teacher’s awareness of
students’ individual style enhance ——
learning. :

(1) group

(2] biased

.(3) 1 ::oopgrat%ve

4) indiﬁdualisﬁc

An early emphasis on linguistic
accuracy along with prompt error

correction in L2 class at Class V level
results in students’

(1) mastering the language more
‘quickly ’
{2) failure to .. achieve requisite

proficiency required of that level
(3) learning only the minimum or less

{(#) not learning at all

Poverty of stimulus with respect to
language acquisition among young
children implies that they would

(1} express themselves ungramratically
(2) read later
{3) not recognize human language

(4) need more stimulus at home for
learning language



144.

145,

146.

147.

2-M

Considering students’ learning styles
broadens the approaches taken to help
language-related probléms. An example
of a learning style is

(1) loud

(2) quiet

(3) print-orientated

(4) focused

Learning a language involves the
processes of listening, speaking,
reading and writing. These processes
involve

(1) linguistic aspect

(2) psychological aspect

(3) either (1) or (2)

(4) both (1) and (2)

A reading activity where students focus
on phonemic sounds, pronunciation
and intonation can be used to assess
(1) reading accuracy

(2) inference

(3) analysis

(4) literary appreciation

A factual description of a laboratory
equipment, for a school science
journal, requires the student to present
the following

(1) Appearance, users, location

(2) Function, appearance, use

(3) Function, location, colours

{4) Comparisons, function, users

57

148,
-~ schools as.well .as between 'students/

149,

150.

— facilitate communication between

teachers and programmes or between
students/téachers and data.- Y

-

(1) Refer@;’iqe books

R

(2) Whiteboards
(3) Voice recorders

(4) Computers

—— education is to use the student’s

native language to .teach. some

academic content while simultaneously

providing an additional L2 instruction.
ol 3

(1) Multilingual

(2) Bilingual

N

(3} Basic

(4) Humanistic

While writing, a student finds difficulty
in expressing his/her views clearly
due to lack of vocabulary. A possible
solution would be the following

(1) Motivate the student to read more
storybooks and the teacher should
take informal feedback about new
words encountered

(2) Change the topic to suit the
student’s ability
(3) Give a list of words with meanings
to learn and use
(4) Conduct special classes to practice
writing  with  periodic  word
dictations and drills
[ P.T..
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1. Out of the four alfernatives for each
question, only one circle for the correct
answer is to be darkened completely with

OMR Answer Sheet. The answer once
marked is not liable to be changed.

2. The candidates should ensure that the
Answer Sheet is not folded. Do not make any
stray marks on the Answer Sheet. Do not
write your Roll No. anywhere else except in
the specified space in the Answer Sheet.

3. Handle the Test Booklet and Answer Sheet
with care, as under no circumstances (except
for discrepancy in Test Booklet Code or
Number and Answer Sheet Code or Number),
another set will be provided.

4. The candidates will write the correct Test
Booklet Code and Number as given in

Attendance Sheet.

5. Candidates are not allowed to- carry any
textual material, printed or written, bits of
-papers, pager, mobile phone, electronic
device or any other material except the Admit
Card inside the Examination Hall/Room.

6. Each candidate must show on demand
his/her Admit Card to the Invigilator.

7. No candidate, without special permission of
the Superintendent or Invigilator, should
leave his/her seat. :

8. The candidates should not leave the
Examination Hall without handing over their
Answer Sheet to the Invigilator on duty and
sign the Attendance Sheet twice. Cases
where a candidate has not signed the
Attendance Sheet, a second time will be
deemed not to have handed over the Answer
Sheet and dealt with as an unfair means
case. The candidates are also required to
put their left-hand THUMB impression in
the space provided in the Attendance
Sheet. )

9. Use of Electronic/Manual Calculator is
prohibited,

10. The candidates are governed by all Rules and
- Regulations of the Board with regard to their
conduct in the Examination Hall. All cases of
unfair means will be dealt with as per Rules

and Regulations of the Board.

shall be detached under any circumstances.

12. On completion of the test, the candidate
must hand over the Answer Sheet to the
Invigilator in the Room/Hall. . The
candidates are allowed to take away this
Test Booklet with them.

READ THE FOLLOWING INSTRUCTIONS CAREFULLY :

Blue/Black Ballpoint Pen on Side-2 of the

the Test Booklet/Answer Sheet in the

11. No part of the Test Booklet and Answer Sheet

1.

10.

11.

12.
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